UGC NET 2021 Folk Literature

Topic:- 71Folk_A
1) Which concept was a leading cause for a paradigm shift in folkloristics in 1960s and 1970s?
(1) Cultural Discourse (2) Fakelore

(3) Ethnic Genre (4) Cultural Heritage
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[Question ID = 3240][Question Description = Q01_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12423]
2. 2 [Option ID = 12424]
3. 3 [Option ID = 12425]
4. 4 [Option ID = 12426]

2) Folklore can be expressed by the group at large in “Collective actions of the multitude” is the definition given by
(1) James Frazer (2) Max Muller

(3) E.B. Tylor (4) L.H. Morgan
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[Question ID = 3241][Question Description = Q02_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12427]
2. 2 [Option ID = 12428]
3. 3 [Option ID = 12429]
4. 4 [Option ID = 12430]

3) Who stated that, “all folklores are traditional, but not all traditions are folklore”.
(1) Franz Boas (2) John Lubbock

(3) Ruth Benedict (4) William Bascom

(1) %9 a@ism (2) ¥ FEETE
(3) =9 sz (4)  faferm smwm

[Question ID = 3242][Question Description = Q03_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12431]
2. 2 [Option ID = 12432]
3. 3 [Option ID = 12433]
4. 4 [Option ID = 12434]

4) The idea that ‘Folklore applies only to items in culture that remained alive among those segments of society least
exposed to the light of civilization’ is

implied by the theories of :



(1) Devolution theories ; (2) Evolution theories

(3) Performance theories (4) Structural theories
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[Question ID = 3243][Question Description = Q04_FolkLit_SHAAN_NOV21]
1 [Option ID = 12435]
2 [Option ID = 12436]
3 [Option ID = 12437]
4 [Option ID = 12438]
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5) In a collection of folklore, who advised an editor of a journal to give story in the ‘ipsissima verba’ of the story teller to
protect its autochthonic nature?

(1) Wilhelm Mannhardt (2) Alan Dundes

(3) Don Ben-Amos (4) Max Muller
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[Question ID = 3244][Question Description = Q05_FolkLit_SHAAN_NOV21]
1 [Option ID = 12439]
2 [Option ID = 12440]
3 [Option ID = 12441]
4 [Option ID = 12442]
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6) In folkloristics, the concept of ‘folk’ under globalization is associated with :
(1) Literate Communities (2) Imagined Communities

(3) Cyborg Communities (4) Liminal Communities
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[Question ID = 3245][Question Description = Q06_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12443]
2 [Option ID = 12444]
3 [Option ID = 12445]
4 [Option ID = 12446]
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7) The American Evolutionary School propagated by John Wesley Powell addressed the fourth stage of development as:
(1) Enlightenment  (2) Industrialization

(3) Americanization (4) Modernization
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[Question ID = 3246][Question Description = Q07_FolkLit_SHAAN_NOV21]
1 [Option ID = 12447]
2 [Option ID = 12448]
3 [Option ID = 12449]
4 [Option ID = 12450]
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8) Omens and Superstitions of Southern India’ is authored by :
(1) David Kinsely (2) William Crooke

(3) Edgar Thurston (4) Charles E. Grover
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[Question ID = 3247][Question Description = Q08_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12451]
2.2

[Option ID = 12452]
3.3

[Option ID = 12453]
4. 4

[Option ID = 12454]
9) 'Myth is to be read literally, and treated as an explanation of certain phenomena” is the view of :

(1) Levi-Strauss (2) Malinowski

(3) Carl Jung (4) J.G. Frazer
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[Question ID = 3248][Question Description = Q09_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12455]
2.2

[Option ID = 12456]
3.3

[Option ID = 12457]
4. 4

[Option ID = 12458]

10) In his ‘Morphology’, Propp selected tales which are commonly referred to in English as ‘Fairy Tales’, but they were
classified earlier by Antti Aarne as:

(1) Tales of Magic (2) Wonder Tales
(3) Fables (4) Catch Tales
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[Question ID = 3249][Question Description = Q10_FolkLit_SHAAN_NOV21]

1. 1 [Option ID = 12459]
2. 2 [Option ID = 12460]
3. 3 [Option ID = 12461]
4. 4 [Option ID = 12462]

11) In Narratology, a term used by A.J. Greimas to describe the paired role as common to all stories is:

(1) Actant (2) Adage

(3) Agitprop  (4) Agon
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[Question ID = 3250][Question Description = Q11_FolkLit_SHAAN_NOV21]

1. 1 [Option ID = 12463]
2. 2 [Option ID = 12464]
3. 3 [Option ID = 12465]
4. 4 [Option ID = 12466]

12) In the traditional sense, ‘Distinct and Self-defined literary types’ are considered as :

(1) Novels (2) Epics

(3) Genres (4) Grand Narratives
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[Question ID = 3251][Question Description = Q12_FolkLit_SHAAN_NOV21]

1. 1 [Option ID = 12467]
2. 2 [Option ID = 12468]
3. 3 [Option ID = 12469]
4. 4 [Option ID = 12470]

13) Comparative method in folkloristics is the contribution of :
(1) Philosophy (2) Functionalism
(3) Philology (4) Structuralism

EY

- f =~ ™, % [t
AIHRIEMd=R] H geidicd=h 9gid JFEH =idl & -

(1) oA A (2) TEEEEH
(3)  wuTIET | (4) TTEEER |

[Question ID = 3252][Question Description = Q13_FolkLit_SHAAN_NOV21]

1. 1 [Option ID = 12471]
2. 2 [Option ID = 12472]
3. 3 [Option ID = 12473]
4. 4 [Option ID = 12474]

14) The belief in indwelling spirits inherent in people, animals, plants or even lifeless things, often presented in
personalized or anthro-morphized images is proposed as the theory of :



(1) Monotheism (2) Totemism

(3) Polytheism (4) Animism
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[Question ID = 3253][Question Description = Q14_FolkLit_SHAAN_NOV21]
1 [Option ID = 12475]
2 [Option ID = 12476]
3 [Option ID = 12477]
4 [Option ID = 12478]
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15) The American scholars prominent in the development of Indexes essential to the Historic-Geographic method are :
(1) Franz Boas and Roger Abrahams (2) Wolfgang Mieder and Richard Dorson

(3) Stith Thomson and Archer Taylor (4) Axel Olrik and Julius Krohn
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[Question ID = 3254][Question Description = Q15_FolkLit_SHAAN_NOV21]
1 [Option ID = 12479]
2 [Option ID = 12480]
3 [Option ID = 12481]
4 [Option ID = 12482]
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16) Who defined “folklore as, the entire body of ancient popular beliefs, customs and traditions which have survived
among the less educated of civilized societies”?

(1) Felix Onias  (2) John L. Mish

(3) Warren E. Roberts  (4) Alex Olrik
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[Question ID = 3256][Question Description = Q17_FolkLit_SHAAN_NOV21]
1 [Option ID = 12487]
2 [Option ID = 12488]
3 [Option ID = 12489]
4 [Option ID = 12490]
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17) For Giambattista Vico, the “Mental language” manifests itself as man’s universal capacity to formulate :
(1) Functions (2) Structures
(3) Oral Formulaic (4) Performance
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[Question ID = 3257][Question Description = Q18_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12491]
2.2

[Option ID = 12492]
3.3

[Option ID = 12493]
4. 4

[Option ID = 12494]
18) Saussure’s concept of ‘langue’ is related to the study of :

(1) Synchronic  (2) Syntagmatic

(3) Diachronic (4) Dialectics
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[Question ID = 3258][Question Description = Q19_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12495]
2. 2 [Option ID = 12496]
3. 3 [Option ID = 12497]
4. 4 [Option ID = 12498]

19) Malinowski argued that the basic function of social system rests on the principle of :
(1) Self-satisfaction of basic needs (2) Social Contract

(3) Self-preservation of basic needs (4) Social Solidarity
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[Question ID = 3259][Question Description = Q20_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12499]
2.2

[Option ID = 12500]
3.3

[Option ID = 12501]
4. 4

[Option ID = 12502]

20) In Psychoanalysis, inner conscience is equated with :

(1) Ego (2) Unconscious
(3) Sub-conscious (4) Superego
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[Question ID = 3260][Question Description = Q21_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12503]
2.2

[Option ID = 12504]
3.3

[Option ID = 12505]
4. 4

[Option ID = 12506]

21) 'Everyday life : A poetics of Vernacular practices” emphasizes ‘everyday-ness’, including aspects of sociability and
goodwill. This concept is initiated by :

(1) Erving Goffman (2) Roger Abrahams

(3) Richard Dorson (4) Clifford Geertz
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[Question ID = 3261][Question Description = Q22_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12507]
2.2

[Option ID = 12508]
3.3

[Option ID = 12509]
4. 4

[Option ID = 12510]

22) The idea of study as a kind of hermeneutic practice concerned with elicit narration of human social action in their
context as interpreted by the actors is termed as:

(1) Symbolic psychology (2) Emic description

(3) Thick description (4) Folkloristics
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[Question ID = 3262][Question Description = Q23_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12511]
2.2

[Option ID = 12512]
3.3

[Option ID = 12513]
4. 4

[Option ID = 12514]

23) One of the first sociolinguists who pioneered the connection between speech and social relations placing at the centre
the ‘Performative turn’ within social science is:

(1) Richard Baumen (2) Erving Goffman



(3) Richard Hoggard (4) Dell Hymes
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[Question ID = 3263][Question Description = Q24_FolkLit_SHAAN_NOV21]
1 [Option ID = 12515]
2 [Option ID = 12516]
3 [Option ID = 12517]
4 [Option ID = 12518]
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24) According to Bauman, what does ‘performance’ mean in the verbal art tradition?
(1) Artistic action and interaction (2) Artistic behaviour and values

(3) Artistic telling and re-telling (4) Artistic watching and listening
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[Question ID = 3264][Question Description = Q25_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12519]
2 [Option ID = 12520]
3 [Option ID = 12521]
4 [Option ID = 12522]
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25) Second-hand mediation and presentation of folk culture’ is defined as:
(1) Fakelore (2) Public Folklore

(3) Applied Folklore (4) Folklorismus
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[Question ID = 3265][Question Description = Q26_FolkLit_SHAAN_NOV21]
1 [Option ID = 12523]
2 [Option ID = 12524]
3 [Option ID = 12525]
4 [Option ID = 12526]
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26) Folklorism is defined as a ‘process of adaptation, reproduction and transformation of folklore’ by :
(1) Viktor Gusev (2) Felix Oinas

(3) Blogs (4) Instagram
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[Question ID = 3266][Question Description = Q27_FolkLit_SHAAN_NOV21]
1.1



[Option ID = 12527]
2.2

[Option ID = 12528]
3.3

[Option ID = 12529]
4. 4
[Option ID = 12530]
27) When ‘new folklorism studies’ were stimulated by Soviet folklorists, they favoured the term -

(1) Folk Art  (2) Folk Creativity

(3) Public Folklore ' (4) Applied Folklor
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[Question ID = 3267][Question Description = Q28_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12531]
2. 2 [Option ID = 12532]
3. 3 [Option ID = 12533]
4. 4 [Option ID = 12534]

28) 29. Internet functions more or less as a worldwide digital library and it impacts traditional forms like story telling
through :

(1) Android Tablets (2) Tik Tok

(3) Blogs (4) Instagram
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[Question ID = 3268][Question Description = Q29_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12535]
2.2

[Option ID = 12536]
3.3

[Option ID = 12537]
4. 4

[Option ID = 12538]

29) The term ‘Glocalization’ coined by Roland Robertson is influenced by the concept of:
(1) Kolkhoz (2) Dochakuku

(3) Nongye (4) Popu
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[Question ID = 3269][Question Description = Q30_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12539]
2.2

[Option ID = 12540]
3.3

[Option ID = 12541]
4. 4
[Option ID = 12542]
30) 31. Hannerz’s model of the global ecumene founded on the dominant metaphor is known as:

(1) Heterogenization (2) Hybridization

(3) Creolization (4) Homogenization
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[Question ID = 3270][Question Description = Q31_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12543]
2.2

[Option ID = 12544]
3.3

[Option ID = 12545]
4. 4

[Option ID = 12546]
31) The concept of ‘Global melange culture’ through processes of cultural mixing is propounded by:

(1) Anthony Giddens (2) David Harvey

(3) Stuart Hall &nbsP; (4) Jan Nederveen Pieterse
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[Question ID = 3271][Question Description = Q32_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12547]
2.2

[Option ID = 12548]
3.3

[Option ID = 12549]
4. 4

[Option ID = 12550]

32) Having a dramatic form of entertainment with subtle social criticism laced through humour as a part of ritual offering
made to Goddess Amba, is the speciality of the following folk theatre tradition:

(1) Garba (2) Tippani
(3) Dandiya Raas (4) Bhavai
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[Question ID = 3273][Question Description = Q34_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12555]
2.2

[Option ID = 12556]
3.3

[Option ID = 12557]
4. 4
[Option ID = 12558]

33) Name of the dance of Lord Shiva that was performed when the Lord got enraged with Sati’s death, also known as the
Dance of Destruction in South India, is :

(1) Kaavadi Aatam  (2) Veeranatyam

(3) Yakshaganam  (4) Tappeta Gullu
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[Question ID = 3274][Question Description = Q35_FolkLit_SHAAN_NOV21]
1 [Option ID = 12559]
2 [Option ID = 12560]
3 [Option ID = 12561]
4 [Option ID = 12562]
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34) The ‘Researcher tends to remain objectively separated from the subject matter’ is the type of research known as:
(1) Longitudinal (2) Quantitative
(3) Qualitative ; (4) Enthnographic
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[Question ID = 3275][Question Description = Q36_FolkLit_SHAAN_NOV21]
1 [Option ID = 12563]
2 [Option ID = 12564]
3 [Option ID = 12565]
4 [Option ID = 12566]
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35) In Ethnographic research, which involves the researcher’s self in making meaning, the significant issues that arise are
concerned with :

(1) Patent right (2) Copyright

(3) Ethical issues (4) Reprobate
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[Question ID = 3276][Question Description = Q37_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12567]
2.2

[Option ID = 12568]
3.3

[Option ID = 12569]
4. 4

[Option ID = 12570]

36) The idea that cultural phenomena are different from those typically investigated in the physical sciences resulted in
the development of the following research method:

(1) Applied (2) Ethnography

(3) Quantitative (4) Empirical
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[Question ID = 3278][Question Description = Q39_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12575]
2.2

[Option ID = 12576]
3.3

[Option ID = 12577]
4. 4
[Option ID = 12578]

37) In the field of research into oral epic forms, Lauri Honko’s approach shifted the focus from the old literary theories to
new perspectives with a focus on the:

(A) Products of folklore

(B) Textualization process

(C) Producers of folklore

(D) Context to text

Choose the most appropriate answer from the options given below:
(1) (A) and (C) only  (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (A) only
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[Question ID = 3280][Question Description = Q41_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12583]
2. 2 [Option ID = 12584]
3. 3 [Option ID = 12585]
4. 4 [Option ID = 12586]

38) Van Gennep emphasized that the phenomena of culture should be examined based on:
(A) Context

(B) Theatrical paradigm

(C) Natural environment

(D) Life course paradigm

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only (2) (A) and (C) only

(3) (C) and (B) only  (4) (D) and (A) only
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[Question ID = 3281][Question Description = Q42_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12587]
2.2

[Option ID = 12588]
3.3

[Option ID = 12589]
4. 4
[Option ID = 12590]
39) Robert Redfield argued that the ‘folk society’ is distinguished by specific characteristics such as:

(A) Isolated

(B) Static



(C) Monarchical

(D) Rural

(E) Self-Sufficient

Choose the most appropriate answer from the options given below:
(1) (B), (C) and (E) only (2) (A), (C) and (E) only

(3) (D), (B) and (C) only (4) (A), (B) and (E) only
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[Question ID = 3282][Question Description = Q43_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12591]
2.2

[Option ID = 12592]
3.3

[Option ID = 12593]
4. 4
[Option ID = 12594]

40) 44. According to Walter Ong, in a primary oral culture, thought and expression tend to be driven by the
psychodynamics of :

(A) Grammatical rather than morphological

(B) Additive rather than subordinative

(C) Taciturnity rather then rhetoric

(D) Aggregative rather than analytic

Choose the most appropriate answer from the options given below:
(1) (A) and (C) only (2) (B) and (D) only

(3) (C) and (B) only (4) (D) and (A) only

Fivet AT F AR, UF WAAF AifEs TeH 0 69 SR sfisaiad s e § uih 29 e

(A)  HATRTHEEE S ST ST



(B)  #AmEg i sAua it

(C)  ACFHIEITE =i TS FF 99

(D)  fawero i smar wegE
1 fau v famet 5 ¥ mEE I0gEd ST R 99 0

(1) =& (A) 3 (C)
(2) FAa (B) ¥ (D)
(3) == (C) ¥ (B)
4)  Fa9 (D) 3 (A)

[Question ID = 3283][Question Description = Q44_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12595]
2. 2 [Option ID = 12596]
3. 3 [Option ID = 12597]
4. 4 [Option ID = 12598]

41) Subaltern studies have been diversely influenced by the scholarship of:
(A) Anil Seal

(B) Louis Althusser

(C) Edward Said

(D) Raymond Williams

Choose the most appropriate answer from the options given below:

1) (A) and (D) only (2) (B) and (C) only

(3) (C) and (D) only  (4) (A) and (C) only
I AT A - TR H SR fUgaT ¥ UHiad = F -
(A)  #A= Hi=
B) IH AT
(C) u=as weg
(D) ius fafeem
Hr= fzu v faset § @ mew IugEa SR R = i
(1) = (A) # (D)
(2)  Fad (B) 3 (C)
(3) A= (C) ¥ (D)
(4)  Fa (A) #Hh(C)

[Question ID = 3284][Question Description = Q45_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12599]
2. 2 [Option ID = 12600]
3. 3 [Option ID = 12601]
4. 4 [Option ID = 12602]

42) Formation of ‘Diasporas’ considers the heterogenity of the diasporic experiences of the members with attributions
relating to :



(A) Displacement and Implantation

(B) Nation and Native

(C) Gender and Ethnicityv

(D) Race and Classv

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only (2) (B) and (D) only

(3) (C) and (D) only  (4) (C) and (A) only

‘9 famsE A ges % e § westea 6 i st i s & o w7

[y

(A)  fememm # AR

(B) =z 3t g (w=eEh)
(C)  fom =i farsiretioan

(D)  =fe i
Hr= T2 o et § @ mew TugEa I R = i

(1) = (A) # (B)
2  F=4 (B) AT (D)
(3) =4 (C) ¥ (D)

(4)  FAF (C) # (A)

[Question ID = 3285][Question Description = Q46_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12603]
2. 2 [Option ID = 12604]
3. 3 [Option ID = 12605]
4. 4 [Option ID = 12606]

43) Alan Lomax’s ‘Cantometrics’ can be broadly grouped into the domains of:
(A) Performance event

(B) Vocal performance

(C) Enactment structure

(D) Song structure

Choose the correct answer from the options given below:

(1) (C) and (A) only  (2) (A) and (B) only

(3) (B) and (C) only ; (4) (B) and (D) only

TS AT F el P o TAE F1 § i A S T #
(A)  FF=TEF g2

(B) M ASH

(C)  =fa= Jw=

(D) 7\ F=



Hr= f2u o fopewt § @ HeE IUgEd SR R 9 i
(1) === (C) 3 (A)
(2)  Fad (A) #HE (B)
(3)  Fa= (B) ¥ (C)
(49  Fa= (B) ¥t (D)

[Question ID = 3287][Question Description = Q48_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12611]
2. 2 [Option ID = 12612]
3. 3 [Option ID = 12613]
4. 4 [Option ID = 12614]

44) In folk literature, a rhetorical device used as completely infeasible idea is known as :
(A) Adynation

(B) Hyperbole

(C) Allusion

(D) Illusion

Choose the correct answer from the options given below:

(1) (B) and (C) only (2) (A) and (B) only

(3) (C) and (D) only (4) (A) and (D) only

S ST =l T Ioia: SACTFEI 2, 5 R A Wiiaed § SEIER A A

(a) st
B) AT
(C) ==HF
D) wm

fr= faw o feppeal § O we SugEd AL H =E HAC

(1)  Faa (B) 3 (C)
(2)  FAE (A) ¥ (B)
(3) ¥ (C) ¥ (D)
(4) T4 (A) % (D)
[Question ID = 3288][Question Description = Q49_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12615]
2.2

[Option ID = 12616]
3.3

[Option ID = 12617]
4. 4

[Option ID = 12618]

45) According to Evans-Pritchard, two versions of a dream theory of the origin of religion based on primitive cultures,



include:
(A) Somatic theory
(B) Ghost theory
(C) Soul theory
(D) Spiritual theory
Choose the correct answer from the options given below:
(1) (B) and (A) only (2) (C) and (A) only
(3) (B) and (C) only (4) (A) and (D) only
TE-TIEaE F IEER THHE TSR W g 96 F I % =W fGged F 39 F g 39 0
Hieafem 7 -
&) wEF fage
B) & fagr
(C) e fagr=
(D)  smetfoas firgra

i fou v famedi 9 © WA 39w == i

(1) == (B) ¥ (A)
(2)  =aEd (C) # (A)
(3)  =a= (B) ¥k (C)

(4)  FIA (A) #E (D)

[Question ID = 3289][Question Description = Q50_FolkLit_SHAAN_NOV21]

1. 1 [Option ID = 12619]

2. 2 [Option ID = 12620]

3. 3 [Option ID = 12621]

4. 4 [Option ID = 12622]

46) The Historical-Geographical method was influenced by the approaches of :
(A) Philology

(B) Phonology

(C) Andrew Lang

(D) Darwin

Choose the correct answer from the options given below:
1) (A) and (D) only

(2) (A) and (B) only

3) (C) and (D) only

(4) (B) and (D) only

OARTTH - AT Tgid 39 32 | TH1=d o

(A) T
(B) T=EEE



(D) SEEA

= fou 1o forpeal ® © weE ST SO T A AT :

(1) a4 (A) ¥ (D)
(2)  F9 (A) ¥ (B)
(3) T (C) #7 (D)

(4)  FFd (B) @7 (D)

[Question ID = 3290][Question Description = Q51_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12623]
2.2

[Option ID = 12624]
3.3

[Option ID = 12625]
4. 4
[Option ID = 12626]
47) According to Tristram Potter Coffin (1977), American Ballads are different from British Ballads as they :
(A) Concentrate on exposition and have supernatural motifs
(B) Tend to be shorter and more lyrical
(C) Concentrate on the climax and have rationalistic motifs
(D) Tend to be complex and more poetic
Choose the most appropriate answer from the options given below:
(1) (B) and (A) only (2) (A) and (C) only

(3) (B) and (C) only  (4) (D) and (A) only

feea® et FIteA (1977) % SEW Sieht mariia fafzs marfa o e 2 w0 d
(A)  TIqUTE 9T S whiegd WEd 2 31T SiiE® Y § Heae] (ST 2 7

(B) B i wfae Aawcasmar 1 317 799 74 7

(C)  =HT=hY W S igd #d 7 #AN JiFages aad =9 4 7 2

(D) =fEw 3 FregnFar i AR TG99 7 7
fre fau o fobeal ® W wew SUgET A=A AT

(1) &= (B) 3 (A)
(2)  FE (A) #(C)
(3)  Fa (B) #H (C)
(4 FAa (D) 37F (A)

[Question ID = 3292][Question Description = Q53_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12631]
2. 2 [Option ID = 12632]
3. 3 [Option ID = 12633]
4. 4 [Option ID = 12634]



48) Freud speaks of ‘Eros’ as a basic instinct and it comprises :
(A) Subjective - love

(B) Ego - love

(C) Superego - love

(D) Object - love

Choose the most appropriate answer from the options given below:
(1) (B) and (D) only (2) (B) and (C) only

(3) (A) and (D) only  (4) (A) and (C) only

(A)  TeTE U

(B) A YH
(C) wm=H ™=

(D) T IH

k]

Hre U U fased °§ ° TeE 3UgHd IO 1 =954 Hi

(1)  Fa= (B) =i (D)
(2) == (B) #E (C)
(3)  adA (A) #E (D)

(4) A (A) FF (C)

[Question ID = 3294][Question Description = Q55_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12639]
2. 2 [Option ID = 12640]
3. 3 [Option ID = 12641]
4. 4 [Option ID = 12642]

49) According to Van Gennep, a common component of the traditional phase of initiation rites includes :
(A) Family mutilation
(B) Genital mutilation
(C) Tattooing
(D) Body art

Choose the most appropriate answer from the options given below :
(1) (B) and (D) only
(2) (B) and (C) only
(3) (A) and (C) only
(4) (A) and (D) only

A T T AR, TAGA SHSE § TRIRE U8 % 3 THF 5§ At #

(A)  WiETeE FTeas



(By ST WT==E2

(C) TEm
(D)  =E wen

= fau o fameat § © HEE T0gEE IR R F9A 0

(1) F= (B) # (D)
2  F= B) I (C)
(3)  FE (A) 3 (C)
(4  FF (A) # (D)

[Question ID = 3295][Question Description = Q56_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12643]
2.2

[Option ID = 12644]
3.3

[Option ID = 12645]
4. 4
[Option ID = 12646]
50) Turner suggests that we should distinguish three levels of symbolic meaning in the study of cultural practices as :
(A) Exegetical meaning
(B) Operational meaning
(C) Positional meaning
(D) Deeper meaning
(E) Literal meaning
Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only  (2) (A), (B) and (D) only

(3) (B), (C) and (D) only  (4) (A), (B) and (E) only

T A 5 6 71 HEHIaE TS % A H T Sl & dF At 1 guiieg Fen =@ -

(A)  =rETEE AY

(B) s @Y
(C) Teufama =19

(D)  TEEEE F7Y

(E) wnfse® =19

4= fau o et § @ wEE STgE I A = it

(1) == (A), (B) 31 (C)
(2)  F=9 (A), (B) ¥ (D)

(3)  F== (B), (C) ¥ (D)

gy n, WL 5 = o ey S e | vy



=) et Lo, LD) A (L)

[Question ID = 3296][Question Description = Q57_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12647]
2.2

[Option ID = 12648]
3.3

[Option ID = 12649]
4. 4
[Option ID = 12650]
51) When New Folklorism studies were stimulated, the Communist folklorists favoured the terms?
(A) Folk creatvity
(B) New Media Creativity
(C) Contemporary Folklore
(D) Post-modern folklore
Choose the most appropriate answer from the options given below:
(1) (A) and (D) only  (2) (B) and (C) only

(3) (A) and (C) only (4) (C) and (D) only

= fafsen ==t 1 9@ J° T qE S A

(A) ToFe A (FeE)
(B) FEFE
(C) = s (geft s

D) ifss

= f2u T fppe 9 @ meE S9gE I R SEA R

(1) = (A). (B) 37 (O)
(2)  F=4 B). (C) FF (D)
(3)  F= (A). (C) ¥R (D)
(4) T (A). (B) =1 (D)

[Question ID = 3297][Question Description = Q58_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12651]
2.2

[Option ID = 12652]
3.3

[Option ID = 12653]
4. 4
[Option ID = 12654]
52) New Media Platforms are commonly considered to include :

(A) Linked In

(B) Broadcasts



(C) Open Diary

(D) Reddit

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only  (2) (B), (C) and (D) only

(3) (A), (C) and (D) only (4) (A), (B) and (D) only

= afean o= 1 39 1 W A e R

(A) o= A (TeE)
(B) WISFEZ

(C)  =1va s (et smd)

D) 1fz=
= fou 71U forpeat | © wEE SUFd 9 =AA AT

(1)  F=9 (A). (B) = (C)
@  #= (B). (C) 3T (D)
(3)  F=d (), (C) # (D)
(4  F= Q). (B) = (D)

[Question ID = 3298][Question Description = Q59_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12655]
2.2

[Option ID = 12656]
3.3

[Option ID = 12657]
4. 4
[Option ID = 12658]
53) Identify the scholars who linked folklorism to the processes of modernization and globalization :
(A) Konard Kostlin
(B) Felix J. Oinas
(C) Yuriy M. Sokolov
(D) Hermann Bausinger
Choose the most appropriate answer from the options given below:
(1) (A) and (D) only (2) (B) and (C) only

(3) (C) and (D) only (4) (B) and (D) only

3 Tagr =1 fafa Fifsm T5m smafe va Svdir #1 9w = St 8 =08 2
(A) =TS FEE
(B)  HeAE A, FHIE

g

P - T Tee—



b St ¥ s S bl e i

(D) = "siEm

= fau v foe § @ meE e I R =9 Hia

(1)  F=9 () =i (D)
(2)  F= (B) 31 (C)
(3) %A= (C) 3 (D)
(4) F=d (B) # (D)

[Question ID = 3299][Question Description = Q60_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12659]
2.2

[Option ID = 12660]
3.3

[Option ID = 12661]
4. 4
[Option ID = 12662]
54) “McWorld as a totalizing force intent on Americanizing everyone and everything in its path” is the view expressed by :
(A) Benjamin R. Barber
(B) Benedic Anderson
(C) Stuart Hall
(D) Mike Featherstone
Choose the most appropriate answer from the options given below:
(1) (B) and (D) only  (2) (A) and (B) only

(3) (A) and (C) only (4) (C) and (D) only

‘Hhdes U THfHS Widd 7 S AU 99 § AHGTE! 5 =S 31T 5 el 1 ST we =@l 2| 9
Al e 27

(A) I IR AR

(B)  wHifts® T=wEA

(C) =A==

(D) AEF
= fgu 1o fashedl | ° T S9gFT SO 1 =5E BT

(1) &= (B) 5 (D)
(2) Fad (A) 3T (B)
(3) & (A) #(C)
(4) %= (C) #i (D)
[Question ID = 3300][Question Description = Q61_FolkLit_SHAAN_NOV21]

1. 1 [Option ID = 12663]
2. 2 [Option ID = 12664]



3. 3 [Option ID = 12665]
4. 4 [Option ID = 12666]

55) Two methodological approaches which provide a basic foundation for qualitative approach in the development of social
science research are :

(A) Action Research
(B) Ethnography Research
(C) Case Study Research
(D) Experimental Research
Choose the most appropriate answer from the options given below:
(1) (B) and (D) only (2) (A) and (C) only
(3) (B) and (C) only  (4) (C) and (D) only
wETT fas T o quieds e % AR R ge STEE U S aTed 31 e A At E-
@) e e
®) e e
(C)  =af9d w1%=H F9E9H

(D) AT FEETH
f=t fam o e § ¥ TeE I9gEd I H 54 I

(1) F= (B) T (D)
(2)  FE (A) #(C)
(3) &A= (B) # (O)
(4) a7 (C) =1 (D)

[Question ID = 3304][Question Description = Q65_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12679]
2. 2 [Option ID = 12680]
3. 3 [Option ID = 12681]
4. 4 [Option ID = 12682]

56) Match List | with List Il :

List | List Il
Scholars Area of study
(A) Hanna de Bruim ) Telugu Folklore
(B) Gene H Roghair () Kannada Folklore
(C) Benjamin L. Rice (Ill) Malayalam Folklore
(D) Phillip Jarrill (Iv) Tamil Folklore

Choose the correct answer from the options given below:
(1 (A)-am, (B) - (v), (€) - @, (D) - (D
2y (A-av), (B) -y, (€) - @, (@ - O
(A)-(n, (B) - (), € - (1, (D) -

@) (v)
@ @mo@-0 ©-m -

F=ft 1% Ty gt I %1 e il



(A)
(B)
(&)

(D)

T 1 (fgm)
=111 S 90

¥ o o—

NPV

= f3u T e | HE I 1 = A

1 (- dD.
2 @A-av.
(3) (A)-daDh.

@ (A -av.

(B) — aOV).
(B) — {dD.
@) — @,
®) — @.

== 11 (werA 53)

() === SAwamE

(IID) W= STl

(IV) wfie el
© - @M-@O
(C) — I, D) — @O
(C) — I, @) — av)
(C) — (D), (D) — 1)

[Question ID = 3306][Question Description = Q67_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12687]
2.2

[Option ID = 12688]
3.3

[Option ID = 12689]
4. 4

[Option ID = 12690]

57) Match List | with List Il :

List | List Il
Concept Meaning
(A) Acryology ) A composition to be sung
(B) Ditty () The jargon of slang
(C) Cant (lll) Misplaced action, scene
(D) Anachorism (IV) Obsolete diction
Choose the correct answer from the options given below:
1) (A)-@v), (B -, (© -, (D) -
(1
) (A)-@v), (®) - (), € - am, (D) -
(1
3 @-an, @ -, © -, O -
()
4)  (A)-av), (B) - am, (€ - @m, @ - O
Tt I =g g1 1L =7 fer =i
Z=hi 1 (swamen) T 1T (=79)
(A) TfEETr (D  T=AT S T S
(B) = (ID)  FAoamr =1 & TeEE
(C) = (IIT) 3Faa 7a1, A
(D) wATHIETH (IV) wv=tem fa=am
A fau o fapereai O wEl 39 B == Fife
(1 W-av. @& - dn. (©) - @O. @O - dIn



(2)
(3)
(4)

&) -av). @B - D.
(&) - D). (B) — D).

(&) -av), (B) — (D).

(€) — dn, (D) — 1)
© - @ @O - av)
©) - an. @ - @

[Question ID = 3307][Question Description = Q68_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12691]
2.2

[Option ID = 12692]
3.3

[Option ID = 12693]
4. 4

[Option ID = 12694]

58) Match List | with List Il :
List |

Romantic Nationalists

List Il

Country of Origin

(A) R. Kreutzwald (0] German
(B) Wilhelm Jordan () Russia
(C) Krisjanis Barnos (lll) Estonia
(D) N. Rybrikov (IV) Latvia
Choose the correct answer from the options given below:
1) (A) - (D, (8) - (m, (€ -y, (@ -
(v)
2) (A)-av), (B) - am, (€ -, (@ - @
(A) - (1), (B) - (1), (€) - (v), (D) -
(3) (il
4) (A) - (D, (B) - (n, (€) - (m, (D) -
(v)
o= 1% @y geff 11 =1 e =i
T 1 (F=se A = 11 (7 =)
(A) IR = @O A
(B) faeem == (I ==
(C) THE=tw= =g (IID) w=2imrs
(D) vA frafeEE (IV) AT
e T3u U faephereal © w3 1 == i
1 @-0O @®& -Jdn (© -am. @O - av)
2 @W-av, B-dn ©-3a. @O -d
3 @-dn ® -O. (© -av. @O - I
@ @W-0 ®-dm (© -dJn @O - aav)

[Question ID = 3308][Question Description = Q69_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12695]
2.2

[Option ID = 12696]
3.3

[Option ID = 12697]
4. 4



[Option ID = 12698]

59) Match List | with List Il :

List |

Books

(A) The hero of tradition

(8)
©
(D)

mythmaking

The myth of the birth of the hero
The hero with thousand faces

Recurring themes in myth and

List Il
Approaches

) Psychoanalytical
() Rites of passage

(lll) Analytical psychology

(IV) Structural

Choose the correct answer from the options given below:

(A) - (), (B) - (Iv), (€) - (I, (D) -
(1)
(I
2) (A) - (), (B) - (), (C) - (), (D) -
(v)
3) (A)-(v), (B) - (), (€ - @, () -
(I
(4) (A)- (1, (B) - (Iv), (€) - (), (D) -
(I
T=ft 1% =y g 11 1 e Fiw
T I (7
(A) 2 F T 22
(B) = o 3% 2 99 =17 2 2
(C) 37 Fm fag urs+s wum
(D) Tt iy 29 fay ug femtEn
= fau 0 e @ 9F I W = i
(D A-@O @® - adv), (© — Jadn,
@ @-@an, @ -a. © -
(3 A -Ivy ® - @O (©) - I,
@ @-Tn. B - aV). © - D.

A 1T (aafer)
M  FAfTE
AD S EA-TE TR
(III) Favemomrs mErfasm
(IV) ==ATEE
(D) — (D
@®) - @)
(D) - (IIm)
D) - I

[Question ID = 3309][Question Description = Q70_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12699]

2.2

[Option ID = 12700]

3.3

[Option ID = 12701]

4. 4

[Option ID = 12702]

60) Match List | with List Il :

List |

Scholars

(A) Milton Singer

(B) Erving Goffman

(C) Richard Schechner

(D) Roger Abrahams

U]
(an
()
(1v)

List Il
Concept
Total institution
Rasaboxes Technique
Folklore creolization

Heterogenic centres



Choose the correct answer from the options given below:

1) (A) - (D, (B) - (n, (€) - (m, (D) -
(v)
) (A)-(v), (B) - (), (©) - (m, (D) -
(I
3) (A)- (1, (B) - (Iv), (€) - (), (D) -
(n
(A)-(v), (B) - (1), ©) - n,
) @
o=t 1% =my g=h 11 =1 foem Fifm
w= I (fagm)
(A) o=z T
(B) St TwEA
(C) T=s ==
(D) =7 TR
I f2u 1o el | wE 3w =9 i
1 @W-O. @ —-dy () — (I,
2 @-av). ® - @O. (©) — JIm),
3 @-dn. B - av. (© - @.
4 @AW-av). @ - @D. (©) — dD.

(D) -

T 1T (Faemom)
D FA FEan
(III) SR s
(IV) o #wg
D) - @)
(D) — (1D
D) - I
(D) — (1)

[Question ID = 3310][Question Description = Q71_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12703]
2.2

[Option ID = 12704]
3.3

[Option ID = 12705]
4. 4

[Option ID = 12706]

61) Match List | with List Il :

List | List Il
Concepts Propounders
(A) Aura ) Catherine Besley
(B) Civil Society ()  Mikhaill Bakhtin
(C) Carnivalesque () Walter Benjamin
(D) Closure (IV) Antonia Gramsci
Choose the correct answer from the options given below:
(1 @A)-a, @) - av, (© - amy, @ - @)
) (A) - (D, (B) - (I, (€) - (am, (D) -
()
3) (A)-(v), (B) - (m, (€) - @, @ - ©
4)  A)-0m, (B) - @Av), (€) -, @ - @)
Tt 1% =g g 11 1 T Hifs
7= 1 (wreremon) T 11 (7=
(A) wHHEA (D s o



(B) FTFIREF THTH

(C) Fitaes 73

(D) @HEMAE
= f2u v Al § wE 9 W 9E Fi
(1) (A —1). (B) — dAV). (C) — (I,
(2 A-@. B — dn. (C) — I,
(3) (A)—IQV)., (B) — D). (C) — (ID.
4) (A)-dID. B - dIV). () — (1),

(I1) ToEEs i
(IIT) =TeeT ==

(IV) sai=an aresf

D) - @
D) — av)
D) - @
(D) - @

[Question ID = 3312][Question Description = Q73_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12711]

2.2

[Option ID = 12712]

3.3

[Option ID = 12713]

4. 4

[Option ID = 12714]

62) Match List | with List Il :

List | List Il
Indian State Cuisine
(A) Manipur ) Jadoh
(B) Arunachal Pradesh (I) Chakhwi
(C) Tripura (lll) Kangshoi
(D) Meghalaya (IV) Thukpa
Choose the correct answer from the options given below:
(1) @-an, B -V, (© - @, @ -0
(2)  @A)-av), B -, (€) - ay, @) - @)
3) (A) - (D), (B) - (n, (€) - (v), (D) -
({I))
(4) (A) -, (B) - (n, (©) - (), (D) -
()
Tt 1% @y geff I 1 e =it
g1 I (9re =) gt II (e )
VI L @ =mEE
(B) TR T D =
(€) Fm (IIT) =TS
(D) wET= (IV) o
Hr= 20 0 el o A@E 3 1 == i
(1) @W-dadn. B) - av. € -dan, @ — @D
2 @W-aw., ® -dn, © -an @O - D
3 @W-O ®-ad, © -avy. @O - dn
4 @-dn @ -3adh © -@O @O - dv)

[Question ID = 3313][Question Description = Q74_FolkLit_SHAAN_NOV21]



1.1

[Option ID = 12715]
2.2

[Option ID = 12716]
3.3

[Option ID = 12717]
4. 4

[Option ID = 12718]

63) Match List | with List Il :

List | List Il
Approaches Practitioner
(A) Contextual ) Ernest Jones
(B) Psychoanalytical (I)  Arnold Van Gennep
(C) Philological (lll) Erving Goffman
(D) Phenomenological (IV) Milman Parry
Choose the correct answer from the options given below:
1) (A) - (un, (B) - (), (€) - (W, (D) -
v
(2) (A)-av), (B - an, (© - @, @ - @0
(A)-(n, () - (), (€ - avy, (D) -
@) (1)
(4) (A) - (D, (B) - (m, (© - ay, (@ -
()
Tt 1% =y geft 11 =1 frem Fifsm
el I (s1fem) A 11 (1)
(A) =EYS @ oF= ™
(B) wAIEgTOIcaF (II) *Fes 9F 57
(C) =TeHmEE (IIT) =efar e
(D) =R AvArEEFa (IV) foers o
Hi= T2 T feskereal @ wE S == fif
1 @-dan, @ - @O (© - dan, @O —av
2 @-av. ® -dad. © -dam O - D
@ @w-am ®B-0O ©-aqv,, @O - Jdm
4 @-0 @G -dady © -3ad. O - av

[Question ID = 3314][Question Description = Q75_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12719]
2.2

[Option ID = 12720]
3.3

[Option ID = 12721]
4. 4

[Option ID = 12722]

64) Sequence the development of concepts of folklore in chronological order :

(A) Cultural Capital



(B) Mythopoeic Age

(C) Binary oppositions

(D) Ethnography of speaking

Choose the correct answer from the options given below:
(1) (B), (D), (C), (A)

(2) (©), (B), (D), (A)

(3) (A), (B), (D), (C)
(4) (B), (), (D), (A)

w1 4T i FAIRONH & [9H i HIAFAHT FH 0G0 :
(A) T T
(B) =TT I

(C)  fg=n wfaam

(D) =z /=t F T =

= fau o faweui 4§ wE 3 F1 =md i

(1 B. D). ©). @A)
@ (0. (B, D). A)
(3) (A B. D). ©
@  (B. 0. D).’

[Question ID = 3315][Question Description = Q76_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12723]
2.2

[Option ID = 12724]
3.3

[Option ID = 12725]
4. 4

[Option ID = 12726]
65) Sequence the comparative philologists with their countries of origin from West to East :
(A) Filip Vezdin
(B) William Jones
(C) Franz Bopp
(D) Georges Dumezil

Choose the correct answer from the options given below:
M (D), (B), (A), (C)
() (©), (D), (B), (A)
3) (A), (B), (C), (D)
(4) (B), (D), (A), (C)

qeTTeR ATSHHTET i 39 ST = <91 = ATHW U UT=d d Y4 % FH ° HaEg i)

(&)  fEfem a=fem



(B)  faferm ==
(C) W= =™

(D) === gt

= fau mu faweat 0§ 9E I # =99 FiAu

@1 D). B).AW. O
2 (O). D), (B). A)
(3) (4. B).(©). D)
@  (B).D).A.©C

[Question ID = 3319][Question Description = Q80_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12739]
2.2

[Option ID = 12740]
3.3

[Option ID = 12741]
4. 4

[Option ID = 12742]
66) Arrange in sequence the scholars who worked on Rites of Passage?
(A) Maurice Bloch
(B) Van Gennep
(C) Edmund Leach
(D) Victor Turner

Choose the correct answer from the options given below:
(1 (€), (D), (B), (A)
(2) (B), (C), (D), (A)
3) (B), (D), (C), (A)
(4) (A), (B), (D), (C)

=+ gl #i T5esH Sfied 9rn gewn W S 597 2 % %0 o sggiead i
(A) oifE ==ma
(B) FTm

(©) Tv=OrE M

D) TaFm o=

Hra feu T fasedt § @ wE = = A

1 (©). D). ®B). A
@2 ®.©0). D). A
3 (B, D). (@©). A
@ (A ®B).M.(©)



[Question ID = 3320][Question Description = Q81_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12743]

2.2

[Option ID = 12744]

3.3

[Option ID = 12745]

4. 4

[Option ID = 12746]

67) Arrange in sequence the concepts related to second life of folklore :

(A) Folklorismus

(B) Folorization

(C) Public Folklore

(D) Fakelore

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(B), (D), (A), (C)
(A), (D), (B), (C)
(C), (B), (D), (A)
(A), (D), (C), (B)

SFATAT T2 e 9 Taiad U] 1 FE | sty i

(A)

(B)

(©

(D)

o

=9 ATl

o \

= f2v 0 Taegi 4 9 991 39 &1 999 FI

(1
(2
(3)

4

(B). (D). (4). (C)
(4). (D). (B). (C)
(C). (B). (D). (A)
(A). (D). (O). (B)

[Question ID = 3321][Question Description = Q82_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12747]

2.2

[Option ID = 12748]

3.3

[Option ID = 12749]

4. 4

[Option ID = 12750]

68) Arrange in sequence the social movements in India :

(A) Jungle Bachao Andolan

(B) Chipko Movement

(C) Jan Lokpal Bill



(D) Narmada Bachao Andolanv

Choose the correct answer from the options given below:
(1) (B), (D), (C), (A)
(2) (€), (D), (B), (A)
(3) (B), (A), (D), (C)
4) (), (B), (D), (A)

EIen B =t e e e |t e e e e e 0
(A) T S AR

(B) oo wEEE

(C) = wr-T fam

(D)  THE T AR

Hr= fou o faedt O 9 wE 3 = ifa

1 (B. D). ©C).A)
@ (O).[D). B). A
(3 (B).A). D.(©)
4 (0. ®B). D). A

[Question ID = 3322][Question Description = Q83_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12751]
2.2

[Option ID = 12752]
3.3

[Option ID = 12753]
4. 4

[Option ID = 12754]
69) Arrange in sequence the ethnic cuisines of India from North to South :
(A) Kuzhi Paniyaram
(B) Kafuli
(C) Bhutte ka Kees

(D) Pootha Rekulu

Choose the correct answer from the options given below:
M (B), (C), (D), (A)
() (B), (D), (C), (A)
3) (©), (B), (A), (D)
(4) (A), (B), (C), (D)

WA & T (JIEE) S0 H I H A F FH § FEEg Hi -
(A)  FA THETH

B)  FEEd



(C) T Hm
@) W

e fou v fashedi # @ "E 3T 9 R

@1 B.(©O). D). &
2 (B[, ©). A
3 (0. (B).(A). (D)
4 (4. ®B).(©). D)

[Question ID = 3323][Question Description = Q84_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12755]
2.2

[Option ID = 12756]
3.3

[Option ID = 12757]
4. 4
[Option ID = 12758]

70) Arrange in sequence the steps involved in preparation of research designs appropriate for a particular research
problem :

(A) Objectives of the research study
(B) Sample design

(C) Tools for data collection

(D) Methods of data collection

(E) Data analysis

Choose the correct answer from the options given below:
M (A), (©), (B), (D), (E)
() (A), (D), (B), (C), (E)
(3) (©), (B), (D), (A), (E)
(4) (E), (A), (B), (C), (D)

ot fafer one wwen % o0 g g afeReT % IUFE 9 e 957 R FwEEg A
(A)  wg I & e

(B) i sferar

(C) TS WIE & 7=

(D)  FTF EHE O

(E)  zmuam = fagemm

= o o faFeui § O O I #1 99 Firan

1) (A).(©), B). D). (E)
(2) (A, (D). B). (©). (E)
(3) (0. (B), (D). (A). (E)
@  (E). A, ®.(C). D)



[Question ID = 3324][Question Description = Q85_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12759]
2.2

[Option ID = 12760]
3.3

[Option ID = 12761]
4. 4

[Option ID = 12762]
71) Given below are two statements:

Assertion A : Like Propp, Levi Strauss had proposed a formula for the structure of narrative; but unlike Propp, his formula
was totally alegebraic involving ‘functions’ and ‘terms’.

Reason R : Levi Strauss contended that mythical thought always works from the awareness of oppositions towards their
progressive mediation.

In the light of the above statements, choose the correct answer from the options given below:

(1)  Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A
(3) Ais true but R is false

(4)  Ais false but R is true

fﬁglaT?l’rlﬁ.’f'TW?l T Y (Assertion A) ‘?ﬁmqﬁﬁﬁﬂ?mm T FEI (ReasonR)%

AR A U9 F TEE, 4 = A FwA F G UF B e R 2 W 99 F FHE F
ferriie ==kt ST yuteEn ST e B e wem @i v e B

FA R : el T2 | 9% T T fagsh Ta=m w0 ufqtyg = g o W) gegean i A e
g

1)

m

I Y T AT °, A= 2 T BT 8 " HEl 39 H 999 i)

(1) A 3R R 2 @3l & 31t R, A i 8 =amen 2|
(2) A 3R R I TF E @fFA R, A #1981 =mEn TH 2
(3) A THE @fHT R @d & 2

(4) A wFF R A R HE R

[Question ID = 3325][Question Description = Q86_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12763]
2.2

[Option ID = 12764]
3.3

[Option ID = 12765]
4. 4
[Option ID = 12766]

72) Given below are two statements:

Statement | : The study of folklore performance is grounded in the ethnographic descriptive tradition, hence, the search for



universals is inevitable.

Statement Il : It is possible to describe a behaviour as universal without defining its biological foundation in the case of
cultural performance

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true.

(2) Both Statement | and Statement Il are false.

3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Hi 91 = f3u e #)
FYAL :  AAHATl U9 H A JAME aUicHs R W SEE 7 3Hiee, aEdima & oo g
HAIREA 2|

FAI:  HEHGF 729 & v § 2o s s w1 aftarfia e faar s 5 aeitfrs o

T TS 2

ITF HUA W ATAS °, A= &5 T e 5 5 wEl I35 % =9 HiiAy)

(1) FF 1 3R 10 21 =4 2
(20  =u I 3 I 361 e 2
(3) A 1T 2, AT = 11 7o 2|
(4 =3 I 7oA 2, S0 e I EE

[Question ID = 3326][Question Description = Q87_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12767]
2.2

[Option ID = 12768]
3.3

[Option ID = 12769]
4. 4

[Option ID = 12770]

73) . Given below are two statements:

Assertion A : Europeans were increasingly willing to deal with folklore ‘out of context’; i.e. with the ideological, political,
social and economic implications of applied

folklore.
Reason R : Folklore is commonly recorded as commercialized folklore and is manifested in an objectified form.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3)  Ais true but R is false

(4)  Ais false but R is true

Hi 21 e fau T #)

FEIL ;. FOOE AR A GE F G2 § 99 Fd T0F 36 TR W ER FE $ o st 491



T, AU -Hgl-ah, Ta-ih, TEaF 0F ANYE HEagl H SA98iiE ol 1 J=m

FH & fou)

FA I1: AT SR S ATl % =9 5 AT ad 2 HN SEaead B § oqad 7|

IYURE YA = AT A, A9 50 T Gl 9 ° HE 3 1 =99 i)

(1) A 3R R 2 @71 7 31 R, A =i @# =30z 7|
(20 A 3t R =M1 9# 7 wifa R, A =i 581 =men 76 7
(3) AW 2 wfFA R =8 T A

(4) A=A E 2 = R =9 7

[Question ID = 3327][Question Description = Q88_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12771]
2.2

[Option ID = 12772]
3.3

[Option ID = 12773]
4. 4

[Option ID = 12774]
74) Given below are two statements:

Statement | : Hypertext is a form of electronic writing that allows writers to link paragraphs or pages using computer -
mediated connections between discrete ideas.

Statement Il : In shaping hypertext, its inventor, Ted Nelson’s fundamental insight was the notion that human thinking is
unilinear.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement | and Statement Il are true.
(2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

= 71 FoF fau 0 3| vF AfTFIF (Assertion A) F =7 ¥ fAfmd £ 91 290 3WF FEV (Reason R) F

=qH

FYAL . FETIRE TRIAE @S B UE FT 2 A @ A T SR T= H R -sEaia
TATT | HSA ] A ZaT 7

9 11 : EETEHE Fl ATHR 30 T8 IEH ANTHRF 735 o g Adg= am gwon o F A

YO YA 6 HAEE |, 49 58 T e 8 8 w8 3w = i)

1) w1 sAr Il as 2
(2  FWI AR I 7oA F
3 w9 I TE 2 o Fo I e &

(4) w9 [ 7ed 2, A w9 [ EE 2



[Question ID = 3328][Question Description = Q89_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12775]
2.2

[Option ID = 12776]
3.3

[Option ID = 12777]
4. 4

[Option ID = 12778]
75) Given below are two statements:

Assertion A : The cultural inferences arrived through ethnography grow from the interpretations of three primary sources :
what people say, what people do and the artifacts that they make and use.

Reason R : When fieldnotes, interviews and collected artifacts are separated from the social context in which they are
produced, the defining character of ethnography is lost.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

= 71 % fau 70 3| vF AfaFuF (Assertion A) % =9 ¥ fAfgd & @ 990 3% FR0 (Reason R) +

AU A : TG F WISIH W TES WeHfaE SAE A ged O ¥ S0 Bl 2| S 99 Fad 2
A F T 7 AN ST F A w4 2 A T A R

MR : T & AR, TR UF Ushiod SeUsT i 39 HIITA G929 ° T5H 3Rl Seai

=l 2, T WU T S qw Fta 9 i ot fewa 9w w awioad

I FIA F AT °, 419 Bu T HFen § 8 "5E I H == i)

(1) A 3 R =M @& § 31 R, A =i 98 = 2

(2) A 3t R 31 =4 E @A R, A 1 ®# == @ A
(3) Aw@A 2SR R T T 3

(49 A @F AF 2 9 R =8 E

[Question ID = 3329][Question Description = Q90_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12779]
2.2

[Option ID = 12780]
3.3

[Option ID = 12781]
4. 4
[Option ID = 12782]
76) Who sought to discover the patterns and forms of the ritual of ‘earlyman’ from underlying literature?

(1) James Frazer (2) E.B. Tylor

(3) Theodor Benfry (4) Kaarle Krohn

Hifzea © ‘AEAEE’ (earlyman) ® FISHT % IEE0N /AT FHIT E01 1 GAT FSREE S ?
S | ) .



(1) =90 % (2) S TEER

(3) T aht (4)  FE BH

[Question ID = 3330][Question Description = Q16_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12783]
2.2

[Option ID = 12784]
3.3

[Option ID = 12785]
4. 4

[Option ID = 12786]
77) Dorson’s concept of ‘fakelore’ portrayed the following stories as not based on oral tradition but as literary fabrications:

(1) Paul Bunyan Stories (2) Cinderella stories

(3) John Bunyan stories (4) Aesop’s Fables

‘BauamEl @ WW 4 SEEA il SEUReT 2 6 Fetiad senamait giigs WYl WS 7 w5 aJnacd
T Fl T W AT -

(1) i si=== =1 Fariaa (2)  fosen i Far
(3) S = i (4)  wE =i Aifassand

[Question ID = 3331][Question Description = Q33_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12787]
2. 2 [Option ID = 12788]
3. 3 [Option ID = 12789]
4. 4[Option ID = 12790]

78) Rich details of cultural scenes constructed as a method of writing culture is known as :
(1) Thick Description (2) Travelogues

(3) Field notes (4) Thin description

5 wag Tl FiiEal =1 T TeRd-o@e 9 UZfd % 71 0 R S 2, 99 wed 27

(1) 78 = (2)  FT-TEE /A
(3) e s 4)  gE =EwE

[Question ID = 3332][Question Description = Q38_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12791]
2. 2 [Option ID = 12792]
3. 3 [Option ID = 12793]
4. 4 [Option ID = 12794]

79) Each and every item in the target groups in any given pilot study has an equal chance and probability of inclusion in
the sample. Such sample is known as:

(1) Deliberate sampling (2) Systematic sampling

(3) Stratified sampling  (4) Random sampling

= oo | wifd muE & fedi 23 gy aeiell stsaeq | 999 % oEEvE S s % die 2 8| UE AT
I T FEd B 7

(1) = TE-aE () FHug T
(3) TG A-HaE (4)  wEEE -

[Question ID = 3333][Question Description = Q40_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12795]



2. 2 [Option ID = 12796]
3. 3 [Option ID = 12797]
4. 4 [Option ID = 12798]

80) Richard Bauman’s ‘aesthetic of performance’ rests on the concepts such as :
(A) Mimesis

(B) Reflexivity

(C) Metacommunication

(D) Metaphysical presence

Choose the correct answer from the options given below:

(1) (B) and (C) only  (2) (B) and (A) only

(3) (A) and (D) only (4) (C) and (D) only

fr=rs =rstm 1 “wgyE #1 digd = AGYRWEA] W ATHIE 7 -

it

(A  FIFE

ST

(B)  wfaREeaFa

(C)  wATgE=m

(D) = 1o Tomie e g =0

A fou 1o foehedt ® H weE SUgEd 36 1 =EA A

(1)  Fa= (B) 3 (C)
(2)  FAA (B) 3 (A)
(3)  F=A (A) 3 (D)
(4)  #F= (C) 3 (D)

[Question ID = 3334][Question Description = Q47_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12799]
2.2

[Option ID = 12800]
3.3

[Option ID = 12801]
4. 4

[Option ID = 12802]
81) According to Johann Gottfield Herder, ‘Volkskunde’ or ‘Science of the Nation’ on which the cultural identity of a
people is contructed, is based on :
(A) Ethnic plays and popular dramas
(B) Household tales and proverbs

©) Popular songs and ethnic values

(D) Fables and legends

Choose the most appropriate answer from the options given below:
1) (A) and (B) only

(2) (B) and (C) only

3) (B) and (D) only



(4) (C) and (D) only

TEA Mefes W % SHAR AedEes d1 U= H GEE m W A Siesas 9mEe s,
HTTRA #

(&) A A S wEata 3

(B)  Hie] HaEAT 3 FEmEd
(C)  =pdt=a fia 31 g geg

(D) iR et s gt

Hra fau o e # & weE 39gF I B 9EA HIO

(1) == (A) ¥ (B)
(2) = (B) 37 (C)
(3) T (B) @1 (D)

(4)  FF (C) ¥R (D)

[Question ID = 3335][Question Description = Q52_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12803]
2.2

[Option ID = 12804]
3.3

[Option ID = 12805]
4. 4
[Option ID = 12806]
82) According to Dundes, the advantage of the structural units of motifeme and allomotifs was that, they represent :
(A) Elements of motifs
(B) Elements of a story
(C) Story telling
(D) Narrator’s telling
Choose the most appropriate answer from the options given below:
(1) (B) and (C) only (2) (B) and (D) only

(3) (A) and (D) only (4) (C) and (D) only

(A)  FHFES T2 % A

(B)  FEHl F A

(C) =l ==

(D)  FUHAT = AT

= fzu v fosed § @ mEw SugEd ST R = AT

(1) Faa (B) # (O)



(2) == (B) #1 (D)
(3) =a (A) =W (D)

(4) == (C) ¥ (D)

[Question ID = 3336][Question Description = Q54_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12807]
2.2

[Option ID = 12808]
3.3

[Option ID = 12809]
4. 4
[Option ID = 12810]

83) According to Jean Baudrillard, consumerism is linked to the shopping mall where consumers are seduced and stupefied
by the display and diversity due to :

(A) Autonomy of the signifier

(B) Hyperreality

(C) Autonomy of the sign

(D) Hyporeality

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only  (2) (C) and (D) only

(3) (D) and (B) only  (4) (A) and (C) only

S SIEfEAE F SR, W A S@ AT T99E v HSiEgar § g gEw J sEEE S 9w

TUHIAER H ZEE EELl 2 FIF -

(A)  Hhaw I T

(B)  sAfdarara=ar

(C)  =a (Tasa) =1 ==

(D)  FTAETAEEA

= fau o foppeal @ O wem SugEd SE H =5EA HIAC

() a4 (A) 31 (B)
(2)  FA (C) ¥ (D)
(3)  F= (D) 3N (B)
(4)  FAF (A) 3 (O)

[Question ID = 3337][Question Description = Q62_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12811]
2. 2 [Option ID = 12812]
3. 3 [Option ID = 12813]
4. 4 [Option ID = 12814]

84) The dialogues, costumes, ornaments, entry and foot movements are unique for the following theatre forms in India :
(A) Bhaona Ankiya Naat

(B) Chauvittu - Natakam



(C) Tamasha

(D) Jatra

(E) Cindu Yakshaganam

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only  (2) (B), (C) and (D) only

(3) (C), (D) and (E) only  (4) (A), (B) and (E) only

FreAferiaa e Afert (whr) ¥nd | 5= 3 HarE, YSYEl, A, TE v U8 g § e E -

(A) 9= I A
(B) @@fg - A
(C) =m=mm

(D) =

(E) fag =aamm

e fou 70 Tehedt J H TEE ITEF I H A9 RO
(1) == (A). (B) 31 (C)

(2)  Fad (B), (C) =1 (D)

(3) Fad (C) (D) #1 (E)

(4) == (A). (B) 311 (E)

[Question ID = 3338][Question Description = Q63_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12815]
2. 2 [Option ID = 12816]
3. 3 [Option ID = 12817]
4. 4 [Option ID = 12818]

85) Scholars who influenced the development of application of ethnography through a focus on social and cultural
characteristics of existing primitive societies are :

(A) Franz Boas

(B) Andrew Lang

(C) Branislaw Malinowski

(D) Radcliffe Brown

(E) Milton Singer

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only (2) (A), (C) and (D) only

(3) (C), (D) and (E) only  (4) (A), (B) and (E) only
fommm anfqici ToEisT & WIS S WEFiaE AEreas W STH Figd # Jad aUE & 3 &

(A)  wA "

(B) T=gam

™ f TR 0 o e



(D)  isfHe® s

(E) To=iea T

= 2w T wedl d @ HeE IUgE I R = AT

(1)  Fad (A), (B) i (C)

(2)  FAd (A). (C) ¥1 (D)

(3)  Fad (C). (D) ¥ (B)

(4)  FF (A), (B) =1 (B)
[Question ID = 3339][Question Description = Q64_FolkLit_SHAAN_NOV21]
1 [Option ID = 12819]
2 [Option ID = 12820]

3 [Option ID = 12821]
4 [Option ID = 12822]

A WN =

86) Match List | with List Il :

List | List Il
Definition of Folklore Propounders
(A) As the learning of the People ) Alexander H. Krappe
(B) As living fossils () Sophia Burne
(C) As a mirror of culture () Fransis Potter
(D) As historical science (IV) Alan Dundes

Choose the correct answer from the options given below:
(1 A)-am, @ -, (€) - av), ® - O

(A)- (), ®) -, (€ - @, (@ -
(v)

3 (A)-(v), (B) - (), (€) - @, (D) - (@D
4 (A-(n, (B - @, (€) - @av), ©d - @O

(2)

Tt 1% =19 5= 11 = faem Fifm

T 1 =i 11

(FATFaTat =1 gftar)

(A) 0 E de () Uewsst e
(B) Sfifad S & =9 7 (I =it 57
(C) =R TeFlah = (ILD) WiioE dret
(D) Ufderta fame % 91 W (IV) w== 3938

Tt f2u o faaeTt O oFt 3 @ == Fifem

(1) A-dIDn. B) - dn, (© - av. O - @D

2 @WW-O @® -d, (© - JIn. @O - av)

3 @-ao ®&-d3dn ©-a @O -d

4 @A@-@m @ -dp, ¢ -aVv. M - @
[Question ID = 3340][Question Description = Q66_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12823]
2.2

[Option ID = 12824]



3.3

[Option ID = 12825]
4. 4

[Option ID = 12826]

87) Match List | with List Il :

List | List Il
Social Media Function
(A) Care?2 ()  Business Network site
(B) Mix (II) Social Activist site
(C) Twitch (lll) News Aggregators site
(D) Viadeo (IV) Gaming site

Choose the correct answer from the options given below:
M A)-an, (B) - V), (€) - @, (@ - O
2y (A)-an, (B) - 1m, (€) - @av), @ - O
3)  (A)-am, (B) - V), (€ - @, (@ - O
4  (A)-av), (B) - am, (© -@m, @ -O

7=t I % Ty gt 11 =1 fem fifsm

o= I (@rere Hitgan) o I (F=me )
A) FWE () fom e @
(B) == (I) @9 vfFefae a@mEe
(C) === (D) == wferens a5
(D) ferfzai (IV) T mmEe

i fau U faereai 3 mE 39 1 =9 i

1 @-dm @ -av, © - dn, M - @

2 @-a. (B - dn, (¢ -av, O - @D

3 @G-3an ®-aw, © -dnp @O - O

4 @-av. @® - dn, (¢ -Jan, @O — @O
[Question ID = 3341][Question Description = Q72_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12827]
2.2

[Option ID = 12828]
3.3

[Option ID = 12829]
4. 4
[Option ID = 12830]
88) Arrange the scholars who worked on mythology from West to East based on their country of origin :
(A) Joseph Campbell
(B) Georges Dumezil
(C) Otto Rank

(D) Walter Burkert

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D)



(2) (A), (D), (B), (C)
3) (B), (A), (D), (C)
(4) (D), (C), (A), (B)
= Tagrl =i fomem a1 = Fm 5 2 3% 396 379 & T F 9R W ufves # 09 F F9 9 =hied

(A) T FoEa
(B) T sYATEA
(C) & tH

(D) T T

T fou o faewt @ @ v = wme i

(1 @.®. 0. D)
@ (A D). 3B).©
(3)  (B).(A). (D). ()
@ (D). (A). B

[Question ID = 3342][Question Description = Q77_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12831]
2.2

[Option ID = 12832]
3.3

[Option ID = 12833]
4. 4

[Option ID = 12834]
89) Arrange in sequence the forms of folklore as per Stith Thompson’s analysis :
(A) Marchen
(B) Hero Tale
(C) Legend
(D) Novella
(E) Humorous Anecdotes

Choose the correct answer from the options given below:
M (A), (B), (C), (D), (E)

(2) (A), (D), (B), (C), (E)

(3) (A), (C), (D), (B), (E)

(4) (©), (E), (A), (B), (D)

T2y 9THET & v F STYUE W S $ SEee W % O SEaedd Hie

Aa) T
®B) FmE
(C) ===
(D) A=

Fa naY B Ny . can.



Ay b Sk e Rl A

Jr 2o o faseT 3 | W I = A

() ). B). (). D). (E)
@ @A), D). ®B).(C). (E)
(3 (@A), (©). (D). (B). (E)
@ (O (E). A). ®B). D)

[Question ID = 3343][Question Description = Q78_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12835]
2.2

[Option ID = 12836]
3.3

[Option ID = 12837]
4. 4

[Option ID = 12838]
90) Sequence the scholars who are connected with the super-organic theory :
(A) Axel Olrik
(B) Franz Boas
(C) Alfred Kroeber

(D) Herbert Spencer

Choose the correct answer from the options given below:
M (D), (A), (B), (C)
() (A), (B), (C), (D)
3) (©), (D), (B), (A)
(4) (B), (C), (D), (A)

AW AT ged 0 geiad gt =+ H0 5g Fa0
(&) T SR

(B) wH s

(C) TS HEE

(D) T T

= f2u T ATt 5 | "R I 0 =9 FIrAw

1 D). @A), ®E.©)
2 (@A) (B).(C). D)
(3) (C). (D). (B). A
4 (B).(C). D). A

[Question ID = 3344][Question Description = Q79_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12839]
2.2

[Option ID = 12840]
3.3



[Option ID = 12841]
4. 4

[Option ID = 12842]

Topic:- 71Folk_B

1) Read the given passage and answer the questions that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s) he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant consequence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European) culture as a whole.

Tt e w1 9giu S nvw T, 91 ® 95 W & W At

TR (7T & SEEATaF i =l AeaE 9 % 79 96 3 99 | waites geeet et |
I U UitiEd & WY TEY H9YG G99 F A9E W 2| 90 F fam FWens Surm ° guiEam Fee 78 A A
=T 1 T2 7 ST S5 TR S Aiieas ST § S 8 i FEiaE AN 9pas T8 ¥ 5UE o
21 3| =19 o faug siiv=nfimar W GEATeAs vy guEd: quiaEn 361 7 AiE 2 e 5 e o st
AR 712, T T fawdia, St wm T = e (F) O Fune ® IgtEd s 5un § e 5 2 3
TEFd & 3 TR TUT FEAUSET HE 9fFa® EE F @Y FisH # gaiEs = G 2| 2 e 8 ol
T F I H 59 % T 3w (R S 57 T9ET) w e F F9 °§ A 3§ JeEar el 7
(zooiaa 2 T Afemieht $1 gom: fus i fgwias sEamm = =6 & 59 4 (q0ad ®e 0 i) 0 by
Fi1 HART ATF GURTTF ATGNON F S F EY 0 wES T e e S A an S h w9y
foors @ Tl % =9 oA fuE F =9 A Sifgw A FeeE f gnEied TEATE Heeny # U geeaqol
TH &1 AU, 9iUET W A o S FEe g S ° Afated A i a9E TS e
AT F AT 9 F U 7| AR TF 2 R U A S AwETane £9 GEE R wEw w9 % wH] (w7 9ra-
Firdia) TEHi © Heig FH F Hi TEE TA 5T

The major difference between syntagmatic and paradigmatic structural analysis is

(1) Presence or absence of textual analysis
(2) Presence or absence of context sensibility
3) Presence or absence of structural analysis
(4) Presence or absence of textual similarity

T i ETEE T S e ¥ S
(1)  wr2amd favemw =1 591 A9 39 96

(2)  uftuEm SrgTeRsar # EE AU A8 B

(8)  ET=ATCHS faweawl = EMT AT IEEH ANE

(4) T =TT AT ST AR A

[Question ID = 3345][Question Description = Q91_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12843]
2.2

[Option ID = 12844]
3.3

[Option ID = 12845]
4. 4

[Option ID = 12846]



2) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s) he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant consequence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European) culture as a whole.

Tt e w1 9giu S nvw T, 91 ® 95 W & W At

TR (7T & SEEATaF i =l AeaE 9 % 79 96 3 99 | waites geeet et |
I U UitiEd & WY TEY H9YG G99 F A9E W 2| 90 F fam FWens Surm ° guiEam Fee 78 A A
T 1 T8 2 SR SEi TR A9 T SR BUERT 8 WIEIaE 918 ) JHia ﬂﬁm—ﬁfﬂtfﬂmnmw
21 3| =19 o faug siiv=nfimar W GEATeAs vy guEd: quiaEn 361 7 AiE 2 e 5 e o st
AR 712, T T fawdia, St wm T = e (F) O Fune ® IgtEd s 5un § e 5 2 3
TEFd & 3 TR TUT FEAUSET HE 9fFa® EE F @Y FisH # gaiEs = G 2| 2 e 8 ol
T F I H 59 % T 3w (R S 57 T9ET) w e F F9 °§ A 3§ JeEar el 7
(zooiaa 2 T Afemieht $1 gom: fus i fgwias sEamm = =6 & 59 4 (q0ad ®e 0 i) 0 by
ﬁaﬂiﬂfﬁmﬁ?ﬁwaﬂmquwm$hﬁﬁrawmmwl Y % w9
foos w7 et & w9 0 fAuw % w9 A Aifgw A Fe=w f gawfesd Ao e # uE geeage
Tfa%e 2| FU, THUET W Ae FA T EUEE g Ure 4 dAatated oA i a9 FEEeE e
AT F AT 9 F U 7| AR TF 2 R U A S AwETane £9 GEE R wEw w9 % wH] (w7 9ra-
Firdia) TEHi © Heig FH F Hi TEE TA 5T

Propp’s structuralism is formalistic in its approach as it is relating to

(A) World View

(B) Motif Hunting

(C) Word Counting

(D) Arche type

Choose the correct answer from the options given below:
1) (A) and (B) only

(2) (A) and (C) only

3) (B) and (C) only

(4) (C) and (D) only

T ZT0 AiauTiEn BUEAETE W g S ger 7 FEi Aw w6 @
(A)  wifF+ s |

(B)  TESE F Ud S

(C)y =

(D) HAEATE=T

= fou o fomedi # ° @d I g

(1)  Faa (A) ¥ (B)
(2)  FAE (A) 31 (0)
(3)  Faw (B) # (C)
(4  Fad (C) 3 (D)

[Question ID = 3346][Question Description = Q92_FolkLit_SHAAN_NOV21]



1.1

[Option ID = 12847]
2.2

[Option ID = 12848]
3.3

[Option ID = 12849]
4. 4

[Option ID = 12850]

3) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s) he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant consequence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European) culture as a whole.

Tttt oo =5t 9Fin s nvE T, 91 7 95 W % T Aifen)

TR faverTv & famarasmaTenE it e faugw @i % 9oy Wi fau 9 0 waitus agegyl f@uEr 9
T TF UiEd F WY TEY FYET TEY F YA T 2| W F T FWenE S9Em § guiEas Feae 18 A A
o= it 2 2 S T wEw S fF anfors FUTEn O @A 98 F GEiaE S Asies 78 ¥ 9UE o
21 3| 319 U faurg SAU=Tohal Wb ST (9T BYEd: Ul 3a1 Bl ARE 7§ e 5 e o st
AT wrsz Tz faudia, e = T = Gemw (F) S daies st ¥ sguiE s gun § v 2 7 3=
TG & 3 TEI AU FEAUSETE i dFaE 9 | Wy S # g = e 2| 2 e 8 ol
T F I H HUE F AU gfedm (R e F oA F=ET) B He9 F F9 H 95al 2 °§ e 5l )
(seomta 2 T Afcmieht 1 goa: fus f fgwfos smamm = =5 % &9 4 (900 @ @ faifa) # o
#i 3T sAfers guwTeE ST # e # =0 O wiEe w % fafee oemes s 9 oan = % w9 g
s g fed & w0 0 favE F w9 0 diigh Fanw e {1 gueiier SieEeE fSvey 6 v sy
Tfawer 2| Uiy, TRUET W A T S S 9o IU0E § Aafated SIuEn i 9 SRS fAren &
TS H ST H W UE B| WEEA TR R R U A AU AR E9 fAEE R WHT ®Y 0 BHl (39 9nda-
NI TEF H Heig T 1 HE TAE T |

Match List | with List Il :
List | List Il
Scholars Concepts
(A) Malinowski ) Myths as models

(B) Levi- Strauss () Intellectual shift in mythic

studies
(C) Synchronic structuralists (lll) Syntagmatic approach
(D) Valdimir Propp (IV) Myth as charter

Choose the correct answer from the options given below:

(A) - (), ®) -, (€ - @, (@ -
(v)

2 (A)-aD, (®) - (), (€) - (), (D) -

(A) - (), (B) - (D, © -, (@ -
(v)

(A)-(v), (B) - (), € -, (@ -
(I

(M

3)

(4)



Tt 1% @ny gt 11 =1 foerms Fifm

=t I (fgm) w1 11 (e
(A) dferEEh (D T % =9 8 oy
(B) =l =Em (I) e 31599 | wifg® aiEd
(C) TEFITH T=ATEE (III) Ta=r= T I
(D) weriad tig (IV) =1é = =9 4 faus
I T2 o feereted | wE 3 F == i

1 @W-O @G -3d, (© -Jn @O - av
2 @-Ja. @ -dn. © -av., @O - d

3 @-dp ®&-@O. (© -adn. @O - dv)
4 @-awv. ® -@O. (© —-an. @O - Jm

[Question ID = 3347][Question Description = Q93_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12851]
2.2

[Option ID = 12852]
3.3

[Option ID = 12853]
4. 4

[Option ID = 12854]

4) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s) he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant consequence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European) culture as a whole.

Frerfertoe T =t wgi st wow =, 91 7 95 W % T A

TR [ageiTo & fEFAeaF o1 = e fAuaE 7S F 99 97 5 99 | "4ites gaeel faue |
I U UfEm & WU TEY AYE 99 H A9E T 2| 9 F A Fens s9rm § guiEam heae 78 A A
o= 1 2 2 S i wER SE fF il R § I T2 ) HEi 1 9aE S § 9UE g
2l =\ 319 o faug siiv=nforar W SrEATeas e gwEd: quiaan 361 B A 2 feaar 5 s st
31 v T T fawdia, S T T = e (F) S IR wune o IgtEd e 5uR | e 2 2 3
TEF(d F 3 TR U1 SEAUSETE HE ATa® g9 F @y e # geies w2 2 e 8 o
T 9P # a9 % T gt (S S F o= w=e) # e w9 § 6 2 3 geEan e 2
(Feeiai & T Afemieht $1 gom: faus i fgwifas sEuamm =1 = & =9 0 (qad #e o fHaifa) =0 b
Fi 3 ATGFH GUHTch FTGTON H1 52 F =Y 5 IS T 5 G0~ AT a3 TH 91 9l ' H
fers w7 Tl % w9 fyuE F =0 A |ifgE Ao FreE f gueied WA e # O geeaqol
Tiawe 7| d9, TRUE W a9 {53 S Sl qeish SUnTH § #Adidied AT il g9 SIS [9rea &
T & SR § ¥ U 2| Oe 4w 3 6 0 3 e senewer =9 fawe W owmw w6 w5 (wven ww-
9 ) TEF | Heg A F HE YA AR AT




Sequence the ideas as per appearance in the passage

(A) Synchronic analysis
(B) Text in isolation
(C) Morphology

(D) Cosmology

Choose the correct answer from the options given below:
M (B), (D), (A), (C)
(2) (B), (D), (C), (A)
3) (A), (B), (D), (C)
(4) (©), (A), (B), (D)

TTEAT | FeeAiad Eeiad EEnl # 39 Iedth I+ %E 4 geaaread Hifao)
(A)  HEEICTE TEaTe

(B) TUUF FIH TS

(C) =ufamm

bl e

{D) HWEHEEAH

= fzu T fampel # @ wE SR w1 =EA FiE

(L  (B. D). A).(©)
(2)  (B). D). (©).A)
(3  A). 3B, D.(©)
@ (0. @A), B). D)

[Question ID = 3348][Question Description = Q94_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12855]
2.2

[Option ID = 12856]
3.3

[Option ID = 12857]
4. 4

[Option ID = 12858]

5) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s) he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant consequence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European) culture as a whole.
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Given below are two statements. One is labeled as an Assertion A and the other is labeled as Reason R

Assertion A : Malinowski’s conception of myth as charter is based on diachronic approach.
Reason R : ‘Myth as a model’ is a synchronic approach.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1)  Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct
4= 31 FuA f2u T 3| v wiweE (Assertion A) mmnfﬁﬁaﬁ%mmmm (ReasonR}gﬁ
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[Question ID = 3349][Question Description = Q95_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12859]
2.2

[Option ID = 12860]
3.3

[Option ID = 12861]
4. 4

[Option ID = 12862]

Topic:- 71Folk_C

1) Read the given passage and answer the question that follow.

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures. These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.



The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally
relies on mathematics (e.g., Kolmogorov’s studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence.
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Structuralism in Linguistics began with which of the following in Russia?
(1) Mathematical Formulations (2) Specialized Terminology

(3) Computer Translations (4) Poetic Devices
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(1) o FErm (2) Taerfia wemEe (sreemEsT)
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[Question ID = 3350][Question Description = Q96_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12863]
2.2

[Option ID = 12864]
3.3

[Option ID = 12865]
4. 4

[Option ID = 12866]

2) Read the given passage and answer the question that follow.



Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures. These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally
relies on mathematics (e.g., Kolmogorov’s studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence.
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Russian structuralists works in linguistics rely much on

(A) Mathematics

(B) Philosophy

(C) Terminology

(D) Poetics

Choose the correct answer from the options given below:
(1) (A) and (C) only

(2) (A) and (D) only

3) (B) and (C) only
(4) (C) and (D) only
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[Question ID = 3351][Question Description = Q97_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12867]
2.2

[Option ID = 12868]
3.3

[Option ID = 12869]
4. 4

[Option ID = 12870]

3) Read the given passage and answer the question that follow.

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures. These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally
relies on mathematics (e.g., Kolmogorov’s studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence.
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Match List | with List Il :
List | List Il

Thinkers and Concepts Meanings



(A) Russian Structuralist studies ) Semiotics of culture

(B) Russian strcuturalists (I) Negative elements of structure
(C) Language modelling (Ill) Formalism
(D) Literary work (IV) Typology of cultures
Choose the correct answer from the options given below:
1) (A)-(n, (B -, (€) - (m, (D) -
v
@) (A) - (D, (B) - (n, () - am, (D) -
v
3) A) -, (B - 1, (©) - ), (D) -
()
(A)-(v), (B) - (), (C) - (), (D) -
(4) (il
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[Question ID = 3352][Question Description = Q98_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12871]
2.2

[Option ID = 12872]
3.3

[Option ID = 12873]
4. 4

[Option ID = 12874]

4) Read the given passage and answer the question that follow.

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures. These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally



relies on mathematics (e.g., Kolmogorov’s studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence.
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Sequence the ideas in the passage :
(A) Formalism

(B) Rhythmic structure

(C) Semiotics of culture

(D) Negative elment and structure

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D)
(2) (©), (A), (B), (D)
(3) (D), (C), (B), (A)
(4) (A), (D), (C), (B)
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[Question ID = 3353][Question Description = Q99_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12875]
2.2

[Option ID = 12876]
3.3

[Option ID = 12877]
4. 4

[Option ID = 12878]

5) Read the given passage and answer the question that follow.

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures. These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally
relies on mathematics (e.g., Kolmogorov’s studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence.
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Given below are two statements:

Statement | : Literary work consists of written text.

Statement Il : Negative elements of structure are those which comprise the connections of the text with the world outside.
In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement Il are correct.

(2) Both Statement | and Statement Il are incorrect.

3) Statement | is correct but Statement Il is incorrct

(4) Statement | is incorrect but Statement Il is correct
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[Question ID = 3354][Question Description = Q100_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12879]
2.2

[Option ID = 12880]
3.3

[Option ID = 12881]
4. 4

[Option ID = 12882]

Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only

HRA i FEFF FeAlld Fiad &, 8 T/

(A)  THEw

(B) @EEALE-aTTEY

(C) =AmR-gadA

(D) At ToT

A fa e, feredl # W Wl ST A1+ A

(1) =ad (A) = (D)



(2)  =AE (A), (C) 3117 (D)
(3) T (B). (C) 377 (D)

(4) = (B) #@1 (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets
(B) Yoga
(C) Cricket
(D) Ramayan
(E) Sanskrit
Choose the correct answer from the options given below :
(1) (A) only  (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only

TFT U9 G- - F W AT A 7

(A) stgma
(B) =i
(C) Tz
(D)  TIHET
(E) #==FA

Hig fou T fomel § @ wWE I W1 99 it

(1) === (A) (2) #a= (A). (B). (C) = (D)
(3)  #hae (A) = (D) (4) =ae (A). (B) 311 (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13695]
2 [Option ID = 13696]
3 [Option ID = 13697]
4 [Option ID = 13698]
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an



important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?
(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy

forfetfiga 3 @ = wra 61 g3 wife-feafa = veifa 7@ w27
()  fsfaea sfem (2) Fod YA
(3)  =AR-mEEA (4) A-FAfa

[Question ID = 3559][Question Description = Q48_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13699]
. 2 [Option ID = 13700]
3 [Option ID = 13701]
. 4 [Option ID = 13702]
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4) Read the passage carefully and answer the question that follow



India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism



(D) Yoga

(E) Education

Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only
(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only

-

TS - FRIA AT F T2E 390 1 Wik A2H-950 T aai & 87

(A) wEe

(B) wrF-wEe
(C) T

(D) =

(E) faam

= fau T e 9 | wE 3w = i

(1) &= (A), (C), (D) 3 (E) (2) Fa9 (A), (B). (O) 3 (E)
(8)  =ad (A). (B) @1 (E) (4) =ad (B), (C), (D) #1 (E)

[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]

A w N =

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

TR S F

(1)  9WA = HEWIE & =9 § S5

(4) oA w1 H9E 59 WY ey
[Question ID = 3561][Question Description = Q50_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13707]
2 [Option ID = 13708]

3 [Option ID = 13709]
4 [Option ID = 13710]
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Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of

Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between

the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il




Decelllbel’ 10 i d

freAieRa ifer =1 =2 © 2 foms v faghan & g7 9T 2019 § f2Eesw 2019 7% 5= 70 St o
% famo it wfaema 9o HP #i1 DELL #eaf1 =+ @9F 1=t 1 g fof @t + &= #1 omaem
ZrrEn T 3| gt s | faghia wdt e @R i we wen 45,000 (e gEw) 2| arfes | f2e
TS = HATIR T 97 1 I 3

IEEiR:upeafeal:tcm e e R e pt

faamor =7 ot HP =
DELL =i
FeE 17% 8:7
T 22% 4:5
et 25% 3:9
HFZE 2% 7:5
T 12% 7:8
femmm 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119: 130

DELL =01 = g Jes i famesn § 5= 73 5 st $1 @ 1 w50 w4 2 7

(1) 119: 145 (2) 116:135
(3) 119:1356 (4 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
Auguat 22% 4:5
September 25% 3:2
October 8% Wk
November 12% i
December 16% 7:9

faeifere afern 1 w2 © 2 fogd sk faghar & gy 9enrs 2019 ° f2asw 2019 9% == 7 Fsft g
% foao &1 wfawmar @ HP @1 DELL #0af+=1 & @99 s1ata 7 ffia i @t % &= =1 oqgom
A0 T 2| S st | fashie @t s @ ) 5 @ 45,000 (Fartem wew) 21 arfeen ® fa e



ST o ATYR T U7 = I 3

DELL i
e 17% 8:7
T 22% 4:6
o 25% 3:2
AFzE 8% T:5
EE=0 12% 7:8
famr 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST s B HP F00l % 35% ol @ves g2 wn s T a1 36t 98 8 HP wet & e F i s

foar w2 = == T ?

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
Auguat 22% 4:5
September 25% d
October 8% Lk
November 12% i
December 16% 7:9

forAitera atfern =1 oI 4 20 Tomd v fagkan % g =€ 2019 © fowmsw 2019 @ == o Fsht g
% fago it ufaeman 9o HP #iW DELL #mf-1 & @9+ wi=ta 1 e fof @t + &= %1 o
9T T 2| S s | T aft S @ i 59 @e 45,000 (Farfe =Aw) 2 e @ fau o
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DELL i
FeTE 17% 8:7
T 22% 4:5
o 25% 3:2
AFzE 8% 7:5
EE=0 12% T:i8
famrsn 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

TR s @™ DELL Fo00t & fasear 3 weass ffa @ w %, 433 =01 @ma o o & 5\ wdA

i‘q‘-‘ r‘j’ﬁ‘E EF-‘F '\: J-i w t: E ?

(1) ¥ 6.49.900 (2) ¥6.45.900
(3) £6.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4)  Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
August 22% 4:56
September 25% d
October 8% sk
November 12% T:8
December 16% 7:9

faeAifee afern 1 w2 @ 2 fomd sk faghar & gy 9enrs 2019 © f2amsw 2019 @ == 7 Fsft Fmoe
% famo it wfaema 9o HP »iW DELL #eaf-=1 & @9F wiata 1 ffn foh @t &= %1 o
ZorET T 3| Tt s | e medft sl @R i we we 45,000 (Tarfem gEw) 2| At § fao
HATHS T ATIR T UYA I D

Frft TRt w1 AT - T 1 e

faamm =1 ot HP =
DELL =
EE 17% 8:7
A 229, 4:5




(a]
OI
(=]
o
[<¥]
]

AT 8% Tih
JIET 12% 7:8
Tamman 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

A % BAH § HP 001 % g o9 70 1 S 61 5 [5Esn % 5eH § HP #eE] % grl e T

=11 EFTOTRT < T W T e #

(D 110% (2)y 140%
(3) 150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% ik
October 8% W
November 12% i
December 16% e

freifera arferer =1 oo © 2@ Tad v faha % g 9es 2019 § famesw 2019 &% s fisf @
% foao i wfawmar aon HP @i DELL %021 & @99 s1atg 7 ffia i @t + o= =1 oqoma
Zorrr T 2| Tt s | e mdft sl @ i 3e w@e 45,000 (Tafem wEw) ) At 5 fae
HATHS T AR T UTH T I D

Frft Tt w1 ATt - T 1 e

DELL =i
TS 17% 8:7
ST 22% 4:5
T 25% 3:2
ST 8% T:5
AT 12% 7:8
fammm 16% 7:9




What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

T v faam 2 el 4 DELL 001 3 git s T % Tt SRl S mie a2 e

(1) 10000 (2) 15000

(3) 10500 (4 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

T = g T T wTEEATenE e 39 T BEYE weE A 2

() A (2) wEEY TR
3y fomefi-famm == (4) =T fTFm =R

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher

task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

Feferfiae faforearet # @ #17 =1 =gaen w9 s+ 0gw ™ 27
(&) ==

(B) foree - -t

(C) arew fafawa

(D) 9F-Ea

(E) 1o

= fou o famei @ ° W 3= 1 =me it

(1) =& (A), (B) 371 (C)



(2) A« (A). (C) 377 (D)
(3) === (B). (C) 311 (D)
(4) === (C). (D) ¥ (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(lI1), (C)-(1), (D)-(11)  (2) (A)-(11h), (B)-(IV), (C)-(IN), (D)-(1)

(3) (A)-(I1), (B)-(), (C)-(li), (D)-(IV)  (4) (A)-(), (B)-(I), (C)-(IV), (D)-(IlN)

-1 % =Y g1 7 e i) 9om 9= goa i e g 1 2, FE 5 g 39 A
=il =1 2| gefi-1 wd geh-I1 =1 fuer =)

I 711
AT -gha =i —mam
(A) T Fe (D) v foremeff 1z fomneff & gomn v 21
(B) TFHATEF FeATHA (I) v faendft H g 9@ fFufd = @
A 2|
(C) Teu efda gearsa (IIT) woyme: =aferm i sifagoon wa wgz@Ew
=
(D) == TEH g (IV) wums: fuoa wfg % gofieor 2g wgw
et
=il &|

Fr fom o fameat ® | wE 3T 99 A

(1) (A)-(IV). (B)-(III), (C)-(I). (D)~(II)
(2) (A)-(TID), (B)-(IV). (C)-(II), (D)-(T)
(3) (A)-(IL), (B)-(I). (C)-(III). (D)-(IV)
(4) (A)-(D). (B)-(ID). (C)-(IV). (D)-(III)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 31 Fya faw o E

F94 (D) : faram o Wt (wifEie) gfewm @ v gewd fagea @ 6 faen e st

o TN A, Y e S e G R . e M, o R ol Ol ot . IO 1 IS i I



bk R ) Tt AT | i e L IRl e Sl WLt A el | L L A e |

Fob (1) : e % gatmEmEE T o % sEn i aEteE e fFves =0 3 s
_F-.ﬁ:ﬁ E Ef‘ “

ST YA = AT |, 49 130 70 eyl § ° "8 S 1 =5EE it

(1) = (D) 37 (II) 31 &3 2

(2) = (1) 3R (1) 3H7 338 7

(3)  Fu= (D) Ged 2, =it = (D) #1592
(4) = (1) w5t 2, =ik wue (I0) Oed &

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

e = #9 fou o B v AfHEeE (Assertion A) % &4 H foifigd & o ?\FTFTHEEW (Reason R)
ETH -

FTIFTT (A) - e, Trerk we wAfaEEAT ® OASA GHISTOH® UF TEAIOAS TAET S HETEem
FAT B, HAd: T2 HEIA vA T d = B

T R): "SR UA WA 2T # AT SEE-TEE % e T W e 2 A

U HUAl A §, Aie 20 T fawedl ¥ O ged 39g 39 6 994 i

(1)  (A) #l(R) ZAT T8 E 37 (R), (A) =i 98l =are &

2) (A IR A T E, S R), (A) F T = 96 2

(3) (A= B, | (R) @6 78 2

@)  (A) TE E #, @ (R) T8 7
[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]

3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freAfefiga el § @ fhes FesHaE =T i SO % A R ST B

(1)  =z-3va-gara (2) wraTiE Fge
(3) TR STATRATaR (4) TR W

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]



7) Identify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

fet &t et famrarett | | nen wg T gEeE )

(A) =% gfayrlt F gfmes § 9o & ey § gesad 2

(B)  3G® g HET W1 2 WIS 9% el UF aed=E 39Td 92 59 A

(Cy  =ivemeff =dme @1 yaewo gl 7 fmme a9 )
(D) et yEUE @ s % AU AT A w S ® 2 A o 2

(E)  =OW womelt va wi-ufEa 2t § e 2 2

i T2u o fmedl ® ® WA 3T ) 99 i

(1)  #ad (A), (C) 3R (E)
(2) =& (A). (B) 377 (C)
(3) A= (B). (C) & (D)

(4) =& (C), (D) i (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List | List Il

Methods of research Features emphasized

(A) Experimental (I) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(lin), (D)-(IV)  (2) (A)-(1), (B)-(1), (C)-(IV), (D)-(ll1)

(3) (A)-(lI, (B)-(1V), (C)-(I1), (D)-(I)  (4) (A)-(IV), (B)-(llI), (C)-(1), (D)-(IN)

l-1 % wy gEi-I1 1 e Fifae

8| oI

MY Tgioat e T

(A) TETTEHF () AT HA=AT W 9e od 50 TEEE
T @t 1 T e 2

(B) FHAM (I) uffeafaa va az #1 ffufla gAfvEs #i
E i ]

(C) T (II) =8¢ = o 797 36 o o o WE w-
T 5w 2|

(D) vfFeTE (IV) fawe =1 o9W o4 7@ Al agE o=

FF GHTET e A F
i fou U e A OE EE I S 99 A

(1) (A)-(D). (B)-(II). (C)-(I1T). (D)-(IV)
(2) (A)-(II). (B)-(I). (C)-(IV). (D)-(I1II)

Fin k% FAY FSTTTYy Iy /TSy i ™y / TT: /Ty 7T
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(4) (A)-(IV). (B)-(IIL). (C)-(D). (D)-(IT)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13759]
2 [Option ID = 13760]
3 [Option ID = 13761]
4 [Option ID = 13762]

A WN -

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Fo (I) : ATEYE H TEA-Taueu UE G FE OB RA0 CSEEEE- SR S
el A 2
F:o (1) : FTEYF T TeE o § e A, weeen e 2

IYURE YA o A °, A= 5 e e 3 8 w8 I o = i

(1) =% (I) 31 (II) i &g 2
(2) e (I) 31 () 391 373 7
(3) A (1) Teg 2, =T F9q (I1) 319 =

(4)  =uA (1) #EE 2, s =y (D) aea 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13763]
2 [Option ID = 13764]
3 [Option ID = 13765]
4 [Option ID = 13766]

A W N -

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= 2 #ue 2u U 2 ;o 9iHEud (Assertion A) % €9 H fiad & A B I5% FE (Reason R) %

ATHHI (A) - o frrlE afer (ve) sfiga # 4 S 2 A SEaeeal 1 giehed
(ver;) Tia &1 T 2
F (R) : frfE afewer (v=o) v wEhTE ufeeTn B wIR UE (UEh) '@ ' h wEm

STIETFRAT T TR S 6 iy g e St R
W FUA F A °, A B T fawew # 9 med 3uge I 1 99 Fia

(1) (A) 3R (R) FHT T2 2 31 (R). (A) i T8 =men 2

() (AY FT BRI T B =T (R (A T O e 9 2



(3) (AT #, @ (R) T8 781 &
4 (AT R, A R TR

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of

pauses?
(1) Linear Model of Communication (2) Interactional Model
(3) Non-Verbal Cues (4) Para-Language

faefafiga @ @+ s=uHE G6a 1 s== 3w 2 ey smE-smEs (), =2 (), wen (afegm)
wr fom (wi=) =1 wam e 27

(1)  ==m i aise (2) waEEE 9g

(3)  HUHAT WA (4) T Em
[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13771]
2. 2 [Option ID = 13772]

3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774]

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.

Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.
In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

H= F'J T T%U muE % T F (Assertion Ay =g g foEa 2 U 34 = (Reason R) F

AT (A) oY Ty U SFUTOeTE U Wfed Sa Ieded #Adl B (9™ wieesd -3
(aF5-=ma=) Fad 2

0 (R): YT AT AU ST % (G0 A9l % Ei wieeh - A2 E

IO FYAL F A 1, A9 5 e fTwedt § O meE 9 3o 6 w6 A

1) (A) 3 ®) 3F T F 3 ®). (A) Fr o s 2
(2 (A) 3R )T FF 2, @ (R). (A) F @@ = = 2
(3) (AT 7, = (R) 99 T8 7
@) (A @E A 2, @ (R) A E
[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :



Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Hiw 1 =ye lgw u -

F4 (D) TTE STt BV 2 WEE Tegl w A SAEvEE B
Fe (ID) Hifgs 99 T3 S FEA-TEE F S 2

IV Y S °, S u o famel 8 o OE 39 = = it

(1) w\ (D) 3R (ID) 39 93 &
(2) = (I) 3R (1) 31 3ae &
(3)  w (1) =em 2, wifea = (1) 9es 2

(4) == (I) w5 2, wifeh 9 (II) oe9 2

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

seifertan gt § o oo 6 sy w aaEe -
(&)  FEE R

(B)  IufEd s

(C) == ud fa=m =i Feag we

(D) == uF foam =t e —ag w=

(E)  aifF=* %9

4= f2u U fawedl § | HE 39 w0 99 Fira

(1) = (A) =7 (B)
(2) A (B) ¥ ()
(3) =& (C) 31t (D)
(4) == (D) @R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13783]



2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (l) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(1V), (D)-(lI1)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(1V)

(3) (A)-(l), (B)-(IV), (C)-(1), (D)-(I) ~ (4) (A)-(IV), (B)-(llN), (C)-(IN), (D)-()

-1 % = F=-11 =1 foerm Fifo
-1 Exigt!
FEIU 6 TR e fasran
(A) ST FEE (I) TE % HIEA H e ATETEEdT
T % T v | wga 2
(B) Suiamdt demm (I) FE-TH=77 =d [9F =+ °H wH SeEnt
s AT B
(C) &fes | (ITT) =9 Tt w3 mmemen 1 afagfe % @y
=EeA w9 2
(D)  T9-=Ts HEE (IV) Tt i @en w1 % wE-wEEE @EE
= B

4= fou Tu g § © TE I o =99 Fitaw

1) (A-D. (B)-ID). (C)-(IV), (D)-(I1I)
@ (A)-AD. (B)-(D). (C)-(III). (D)-(IV)
(3)  (A)-AID), (B)-IV). (C)-X), (D)-(I)
@ (A)-AV). (B)-IID). (C)-1D), (D)-)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

=f3 Famea, fasraqea =1 25% & & =y 1 afwaar F#m 27

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

= Tk 26 et =EE %, 20/FF % W W T # IE gEC TR w30 e = e e gm d e
35 T, 36 /TR % T W TlE o o 39 v G 5w aew w5 30/ F W s 7 55E 9

- - T
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(1) 5% (2y  10%

(3 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

w Fg-Toha 5. X/ = @ w39 wig 5. 0X/d % @ W A 2| aEEg 36 98 2 e o
el 6 e WG g9 § fien 4a1 21 35 @ St uiawaen @ 27

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i sitea @1 w1™ 5050 ¥ &, Q ¥ R =1 sitaq 7w 5™ 6250 w99 991 P 3 R i

STrEd ATfEF A 5200 %94 7| P 61 A1fdm 37 faadi 5 7

(1)  3.000/- =7 (2) 3,500/- 797

(3) 4.000/- =19 (4) 4,500/- 5

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 Tl = S 20 & 991 gEel e 9 3 Gl % A o 1/3 2| umell g o 5E e B e

(1) 15 2y 20
(3) 25 4y 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

1 : § i : ; : :
) According to Naivayvikas we ascertain the relation of universal concomitance between x

and vy :



(A)

(B)
(C)

(D)

We can determine the relation only if we can determine the relation of essential
identity between x and v

By perceiving that in all cases the presence of x 1s accompanied by the presence of y

We can determine the relation only if we can determine the relation of causze and
effect between x and y

By not perceiving any instance where the presence of x is not accompanied by the
presence of v or vice-versa

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (C) only
(D) and (C) only
(B) and (D) only
(A). (B) and (C) only

ﬂzﬂlﬁ’l'ﬁ_“#m?ﬁx?ﬁﬁyﬁﬂﬁﬁmmq T -‘ﬂmqﬁrﬁﬁu‘; FH B

(A)  x 3R y % i SUNEE G AYAT UHREAl 1 G- GHTEd B4 9 E 56 e B ad #

TFA|

(B) =i oftfeatat 9 x it mfeata % @y y F1 Sufeata 1 399 w06 91 99 w4

(C) 78 Tosrg =i 94 GHTad # T & 79 75 x 37 y = S FE-FE0 g g F A |

(D)  x i sufeats & =g y Fi sl oy £ it F g o foatetE = oFwE 9@ oo .

FAAT 7 T
= 15U 7T e 8 O HE I R =5 i

(1)  =aa (A) 31 ()

(2)  #Fa= (D) 3R ()

(3) == (B) A (D)

(4)  =aS (A), (B) 3l (C)

[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List I with List II ;

(A)
(B)
(C)

(D)

Liat I List IT

Vvapti (I)  The property being inferred
Linga (ITI) Locus of hetu and Sadhya
Sadhya (IIT) Sign or reason

Paksa (IV) Universzal concomitance

Choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)

(A)-(D. (B)-(IID). (C)-(II). (D)-(IV)
(A)-(IT), (B)-(IIT), (C)-(T), (D)-(IV)
(A)-(IV). (B)-(III). (C)-(I). (D)~(II)
(A)-(III). (B)-(@). (C)-(IV). (D)-(II)



THt-1 & Ty g=-11 =1 faem i

Fl-1 -1
(A) =g (I) 7" =1 ATEA
(B) e (II) 9 =11 =0 1 =
(C) =T (III) Hohe H9=1 F0
(D} & (IV) =rEdtas memiea

I f2u U faEeT § |/ wE 39w 99 i

(1) (A)-(T). (B)-(III), (C)-(II). (D)-(IV)

{2) (A)-(IT). (B)-(IIT), (C)-(I). (D)-(IV)

(3) (A)-(IV). (B)-(III). (C)-(T). (D)-(IT)

(4) (A)-(IIT). (B)-(I). (C)-(IV), (D)-(IT)
[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]

3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I: According to Claszsical Indian Logic the fallacies (hetvabhasza) are not
errors of inference. but rather hindrances to inference.
Statement 1T : A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements. Choose the correct answer from the options given

below :

(1) Both Statement I and Statement IT are true.
(2) Both Statement I and Statement II are falze.
(3 Statement I 1s true but Statement II 1= false.
(4) Statement I 1s false but Statement II is true.

i 31 = T w7

F9 (I) : YA g7 9T F ST oA A w1 2 TE S0 Sade F
w1 (1D : FETNTE ARAE: TN WO SUET WA B A ST SIS A W A AT o

=i Feqi 1 HERT HE

IUE FYF % e o, 99 2y T e § o of s = == it

(1) = (1) #A (10) 2H1 Tea &
(2) A (1) 31 (ID) &H1 =150 &

(3) = (1) ¥ea 2, wfw =ue (1) 19e 2



(4) e (1) 79 2, = e (10) 59 B

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

A w N =

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ““‘No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ‘“No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ““Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) ‘‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“goid: wft HAEE] TS UH THS B W1 G4t wAadeial S 50Ed 981 wd 2|7 weifofad w8 F wi
o1 F99 IEE & G20 § g9 27

(1)  F ff g0 TEAEE TES UH HA TR R S SAhE Sl B e a8 9 T weE
1 77 Ufaatda a1 & 3117 91+ ¥4 § J990T 7

(2) F% ff Toiq: TEAEE A A @IS 6l 2 S S9ihs Tadedl S oaied w2 2T T wee
=1 8 Tiaatdd a9 & 31 96 ¥9 8 FEEIeT Bl
I & 3R aEE ' 9 5E 2

(4)  FT Tod: OOAETE WO UH THTS 981 2 S 9t Tadd i Tt Fd =) 5T T e W I
IR AT B 3 aTih T H TEgeT 2

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13823]
2 [Option ID = 13824]
3 [Option ID = 13825]
4 [Option ID = 13826]

AN wnN -

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

21 st = 2 =12

(1)  wh, g@d %1 99 =i & 91 T 36 2

(2) SR, EF Hed B H@FA] & A 2 HEed TR B " |

(3) oW I Iev AR faew ug fim £, va 7 ok aEn o are 2

(4) =R 3% 3279 AR G997 @A 2 AN 3 e qEn A q a2 g queen 9wt )

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13827]
2 [Option ID = 13828]
3 [Option ID = 13829]
4 [Option ID = 13830]

A WN -

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

TS TEAT 67.625 T TGATE THIET AT B Y

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011.101



[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) ldentify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.
(A) RAM
(B) Optical Drive
(C) CPU Cache
(D) SSD
Choose the correct answer from the options given below :
(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)
(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)
UFHY 21EY 1 AH H 1@ 5T ged o9 | HeH 1Y, W0 6 S0 % 50 T w6 4 ¥ w@e wm i geeE
|
(A
(B) A== 3154
(C) iz F=
(D) TETEEL

I 20 TE faFed § ° WEl 397 1 99T S

(1)  (B). D). A).(C)
(2 (C). (D). (A). (B)
(3 (A). (B). (C). (D)
(4) (C). (A). (D). (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

et 31 o fqg e #

w4 (D) : TH,F A, Aaes B - B S AT F
FA (1) : TH. 3504 CAR. DU, F GAeE 2 - el deH @ Ufdad-wi B T UHsfiE
ATEEH

TN HUE * AT §, A= 3 T e § 3 wE 39 W = i

(1) = (@) 3R 1) 2 7 2
2 e (1) 3R () 3FT s &

(3)  =wuF (I) Ged 2, it =9 (1) s6cg 2



(4) = (I) s@e 2, | w9 (1) we 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

feAferfias § ® ®H-F17 9 YA AR g9 8 og =/ A, Fi gfrw @ gt 27
(A) ST ZEES T e
(B) HH-=A HT

(C) Toqet 2w ¥ wEw fafwemd fea

Hr= f2u o el 8 | @ 9 R =me i

(1)  (A), (B) 3 (C)
(2) A (A) FR(C)
(3) a4 (B) #R (C)

(4)  FAE (A) #h(B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (l) Semantic Web

(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (2) (A)-(11), (B)-(I), (C)-(1V), (D)-(11)

(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(ll)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)
-1 % =y =11 1 faee Fif

T il

T g faamm
(A) =S () @fs 3
(B) 9 2.0 (1) BF Fem T + fau etz F gam
(C) == 3.0 (III) == ¥ 1 7959 F fom Ty 7 7% S
(D) =30 s, (IV) =Hietamrfea 99



Al Il TS Id=shedl H A Hel Sl =vl =4 =pllall |

(1) (A)-(IIT), (B)-(IV). (C)-(I), (D)-(IT)
(2) (A)-(III). (B)-(I). (C)-(IV). (D)~(II)
(3) (A)-(ID). (B)-(IV). (C)-(I). (D)-(I1I)
(4) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

fret g1 = fau o £

w7 (D) T TEE W UAEE U9 = D E-Wh FOWY-'g gEas - WOt
TS 2
FoH (1) : TAET YR, SAH-T F g8y ° fEw 2|

ITLRF YA = A H, 4= 50 70 fGepel 3 ° #8539 1 =0 i

(1) = () #w (ID) 2 aex &
(2) = () #A (1) S e B
(3) = (I) 9cF 7, =it =ee (1) s18en 2

(4) = (1) 58 2, fFA %99 (1) 77 2

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

feAfetfEa & @ %4 @1 29 30 9 A f auar ael fGva % geE 93 Gi-ag-Sa-3mE i TeEr
Tz ° T BT

a

(1) =HA (2)y 9ra
(3)  srefem (4) #HIF-w=

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :



(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

i = e 2w e E e wfieem (Assel‘tionﬂ)%ﬁwﬁ%%ﬁ%?ﬁ?ﬁﬂmﬁm (Reason R) &
®qH

A (A) : Ayl fawm we (wm. 2 ) $iomin g ofimd T s 2
FT (R) : w5 T E1L S, wEEg A

IR A A °, A= B faweat # 1 wes s 39 0 99 i

(1) (A) 3 (R) ZFT Tt B 3117 (R). (A) =t et =T &

(2)  (A) S (R) IAT B8 &, ST (R), (A) T 98 ==men 78 2

(3) (A= R, A (R) 78 76 2

4) (A= FF R, W (R) &8l 2

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13859]
2.2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

o

H =1 A e T # : uE AfEeA (Assertion A) % %W H feif@d 2 1 gHU 3@H FWU (Reason R) ®

=Y
TR (A) AH=AT 311 T F 7 § T=EE 0 AfEgann mifeaas—aa = e off s
% e O i EX
GAE AT H 9EAEd = 15487 = |
F (R): Tl F AAE H E T A Ui i 2

IUUE FUAT F AT °, S 50 e faweni § @ w3 = fifE

(1)  (A) 3 (R) 5H1 5e3 2 31 (R). (A) i T8 == 2
@ ) o Ry B 3, S ). (&) 1 e
(3) (A== %, WA (R) 791 980 =

(4 (A) zme 7F 2, dfF (R) @ea 2



[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) - 42%
(3)~37% (4) ~ 28%

(1) ~ 5T% (2) ~42%

(3) ~ 37% 49 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

fraferfas § = W1 g7 2aR 9§ TEAE = § avdr 2 watda e w w ae

(1)  ©%Fa AF T 974 (2) F WS go
(3)  apErE (4)  sTeR-Higan

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot = =t vm, w1 aaew B -

(1)  =ATeE ST B2 hiy (2) =aTEd wLs Fiee e
(3) Tz WS ATE w2 T (4) iz =S AT Tz TO-EE

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13875]

2. 2 [Option ID = 13876]

3. 3 [Option ID = 13877]

4. 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona Virus Disease strain 19

(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

w19 F1 gaa9 & -

(13 FET arErT 2 A2 20190



(2) e T e =2 19

(3) =T TS fEAm HTF 2019

(4) = ey fsdis w1 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Fifa (NITIL) 2330 =1 Ao & -

(1) Huel SESEge i 2T sfean
i ’ [} S it P e Y
(2) e SEAEgE AT SEeTEl 2

(3) 79N TEEE ATF TR SR

(4)  FvHd sERgE ATF gEEETE & SETH

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (l) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (V) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(l), (C)-(1), (D)-(IV) ~ (2) (A)-(IV), (B)-(llI), (C)-(1), (D)-(II)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

FH1-1 % =19 g=-11 =1 faem i
-1 Tf 1T
Tmm Tasft
(A) geEi-Tg=m D 24 =&
(B) @F U "9 fam Iy s
(C) TEET-faam (IT) 24 FFsE
(D) w=ugty foren faam (IV) 22 ==

Hrt fou v famel @ © WA 39 H1 999 it

(1) (A)-(I). (B)-(III). (C)-(II). (D)-(IV)
(2) (A)-(IV), (B)-(IIT), (C)-(I). (D)-(1II)
3y CANTTY. BTV (O D= TTT
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@ (A)-aV). (B)-(IID). (C)-(ID. (D)-(I)

[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]




